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33100000 PRYwlwl uwppbpwdnpnidlip, gnpdpptbip U wwpwaquhbip
32351230/507  |nbbungbl blwplibph dwwwybuubn Qg hwn 100 0,0
32351230/507  |nbungbl Uwnubph dwuwwibutbn Q<L hwun 280,00 100 28,0
32351230/508 |nbuwngbl bwpubiph dwwwybutibp Q< hwn 500,00 100 50,0
32351230/509  |ntilungb Uywpubiph dwuywytultp G hwtn 350 0,0
32351230/509  |nblngbl Uljwpltiph dwwwtuubp Sq hwwn 260,00 250 65,0
32351230/510  [nklungbl bywpbbph dwwwybutbn Q< hwwn 100 0,0
32351230/510  |nbuwnghb uwputph dwwwybuubp S hwtn 420,00 100 42,0
32351230/511  [nblingbt bwplbph dwwwdbutbp Q< hwn 4 000 0,0
32351230/512  |nklUwingbl uwpubiph dwwwykuubp Qg hwun 2500 0,0
32351230/513  [nbtingbli Uwpbbiph dwigwdbllbn qc huwn 300 0,0
32351230/513 [nbtwnglbt Uwnbiiph dwuwwyblutp < huwtn 1360,00 200 272,0
33111200/501  [ptipdnipjwl gpwugdwl uwpptip S hwn 1200 0,0
U Gupdwls u
33121180/502 | MU 20wl swihduwl uipg 9¢ huwn 1 600,00 50 80,0
(tnnundbiinp)
S31rB0/503 | MD Bl2Uul swipdwh uuinp 9< huwtn 1 600,00 50 80,0
(wnnundbwn)
dEwlgudjw oguwgnpddwl ng
33141100/512  |phdpwlwt pdoljwljuts — 9L huwtn 120 000 0,0
hbdwwninghwliwl wwnwawbbn
dbhwugqudjw oguwgnpddwl ng
33141100/512  |phdhwlwl pdoluwluwl — a< huwtn 416 30 000 124,8
hodwinninghwbiwl wwnwawubin
ublwlqudjw oginwgnpddwl ny
33141100/513  |phdhwlwl pdoluljwl - Qg hwtn 15 000 0,0
hEdwwninghwlwl wwnwawubn
dbljwqudjw oguiwgnpddwl ng
33141100/513  [phdphwlwu pdolulwl - Q< hwn 13,00 5 000 65,0
hdwwninghwlwl wwnwawutn
dblwugwdjw ogunwgnpddwl ng
33141100/514  |phdhwlwl pdpljwlut — ag huwtn 1 000 0,0
hbdwwnninahwbwl wwnwawubn
dElwugqudjw ogunwgnpddwl ng
33141100/515  |phdpwlwlu pdoljwlwu — < hwn 7 300 0,0
hdwinminghwbiwb wwnwawubin
dEhwbqudjw oquiwgnpddwl ng
33141100/315  |phdhwlwu pdajwljwl - Q< hwin 412,00 1000 412,0
hEdwwnninghwbiwl wwnwawlbn
dblwbqudjw ogunwgnpddwl ng
33141100/516  |phupwlwlr pdoljwljwl - qC hwn 3 600 0,0
hdwinninghwlwl wwnwawbin
delwugqudjw oginwgnpddwl ny
33141100/516  |phufwuljwl pdoluljuts - Q< hwwn 280,00 2000 560,0
iy mmnablet ooy 1 ) F o 0
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UbLwugquidiur equiugnnddwl ng
33141100/517  |phuhwlwt pdaljwljwl — Q< hwun 4 000 0.0
hijwnninghwlwl wwnwawibin
dbfwuguidjw oguinwgnpduwl ny
33141100/517  |phdhwlwu pdolwlwy — Q< hwwn 141,43 3000 424,3
hbdwwnninghwliwl wwnwgwutin
33141111/505 | jwisnib uwbinwihutip e hwun 3500 0,0
33141111/505  |Yuysniu uwybnuithtbip Qe hwwn 280,00 2000 560,0
33141114/504  [PO2UR WY pLLGhd (Guipyw) %< titnn 105 000 0,0
lwiunipintin’ 90ud
33141115/502 | pdpluiljwt pwdpuwy e huwin 3500 0.0
33141115/502 | pdoljwljwl pwdpuwly q< hwwn 500 0,0
3gtatiagi0r | AP Pt g B 100 T hwtn 5000 0.0
33141130/501 3”‘““ st s by 1600 q¢ hwn 40,00 2000 80,0
Upjnit Jpgubine dwuywidbu
33141131/503 ﬁ”“ﬁ“igziggid“gm? LU a< hwn 130 0,0
ni nL dwuyw
33141131/504 w?nwu‘ih;id (ldqmmt;* q 4c huwin 310 0,0
33141131504 | MW dbingutint dwwywil 9¢ huun 100,00 100 10,0
wdpwhubinnd (danun)
33141136/507  |Qupbwbputip qc hwin 400 0,0
33141136/507  |Ywptinbipubip < hwun 220,00 100 22,0
33141136/508  |wpbwbnutp S< hwun 800 0,0
33141136/508  |Ywpbwbpubp A huwn 220,00 200 44,0
33141136/509  [ywphinbiputip e hwwn 220 0,0
33141136/509  |Ywpbwbputip o, hwwn 8125,00 100 812,5
33141136/510 | Ywptiwnbnutn ac huwin 1000 0,0
33141136/511 | ywptwbnutn ac hwn 1000 0,0
33141136/512  |lwpbubiplitp a¢ hwn 700 0,0
33141136/512  |jwphbunbipubp Q< hwtn 65,00 300 19,5
33141136/513  |jwphwnbpubp Qg hwn 700 0,0
33141136/513  |{wphinbpubp Q< hwuwn 65,00 300 19,5
33141138/501  |Yuwlynyuw 9L hwn 3000 0,0
33141138/501  |jwiynyw L hwn 110,00 1000 110,0
33141142/508  |ubpuwplhsbp ac huwsn 900 0,0
33141142/508  [ubpwnlyhsutip < hwwn 19,50 100 2,0
33141142/509  |ubpwplhsutin ac huwn 35 000 0,0
33141142/509  [ubpwplhsutip < hwun 16,80 15 000 252,0
33141142/510  |ubpuwplhsutin < huwn 40 000 0,0
33141142/510  |ubipwplhstbin G< hwun 25,00 20 000 500,0
33141142/511  |ubpwplpsutbp e hwn 30 000 0,0
33141142/511  |ubpwplhsubp < hwwn 11,66 15 000 174,9
33141142/512  |ubpwpyjisutp L hwuw 75000 0,0
33141142/512  |ubpwplhsubip 9 hwn 11,00 25 000 275,0
33141142/513  |ubipwplhsutip Q< hwn 4000 0,0
33141142/513  [ubipwplhsubip 9L hwuwn 81,00 1000 81,0
33141142/520 |ubipwnlhsltin G huwtn 1500 0,0
33141142/520  |ubipwpljhsubin Q< hwin 65,00 500 32,5
33141144/517 | pdoljwljws wubqubip a< hwun 19 000 0,0
33141144/517 | pdoljwljwl wubnlbp QL hwun 10,00 2 000 20,0
33141144/518 | pdoljwljwt wubinutip L hwun 6,00 1000 6,0
33141144/519 | pdojwljwi wubinubip QL huwin 550 0,0
33141144/519  |pdolwluw wutinubn a< hwin 8 100,00 100 810,0
33141144/520 | pdolwlwl wubinubp G hwn 70 0,0
33141144/520 | pdolwilyuit wubinubp F< hwwn 5 000,00 30 150,0
33141144/521 | pdoljwljwl wubnubp e hwn 70 0,0
33141144/521 | pdawlwl wubnubp QC hwun 5 000,00 30 150,0
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33141144/522 | pdpljwlwl wubinubn S< husn 70 0,0
33141144/522  |pdpwlwu wubnutp Q< hwin 5 000,00 30 150,0
33141144/523 | pdolwlwl wutnubip S hwwn 150 0,0
33141144/523 | pdplywljwl wubqubn Q<L hwwn 7 000,00 50 350,0
33141145/501 | wligqujwgdwl wubnubp Q< hwun 100 0,0
33141145/501 | wuqqujwgiwl wubnutp 9 hwwn 850,00 50 42,5
33141145/502 | wliqqujwgiwl wubnubp ¥ hwwn 100 0,0
33141145/502 | wlqquywguwl wubinubin q< huwwn 850,00 50 42,5
33141145/503 | wugquijwgdwl wubinlbp Q< hwn 150 0,0
33141158/501  |Jhpwpnidwlwl dbnungutip Q< qnyg 450 0,0
33141158/501  |yhpwpnidwlwl dtnunglbin G qnyg 140,00 50 7,0
33141158/502  |yhpwpnidwluwl dkntinglbin QL qnyg 3500 0,0
33141158/503  |Uhpwpnidwlwl hnungutip Qg qnyqg 7 300 0,0
33141158/504  |Jhpwpnidwljw dbnungutip gL qnuyg 17 000 0,0
33141158/505  |Jhpwpnidwljwl dhnungutip Qe qnyg 4500 0,0
33141173/505  |dbigh nnwnwlutin ¢ huwtn 7 500 0,0
33141173/505  |dbigh winwynwljubn S hwn 94,99 2500 2375
33141182/510  |Uhpwthnntp (npbuwdubip) Q<C hwiwn 700 0,0
33141182/510 _|Uhpuwithnntip (nnblwdutn) 94 hwtn 1200,00 100 120,0
33141182/511  |dhpwihnntip (npbwdutip) Q< hwn 400 0,0
33141182/511  |dhpwihnntip (nptiuwdutip) S< hwun 1200,00 100 120,0
33141182/512 | dhpwthnnbip (npbuwdutip) G< hwwn 700 0.0
33141182/512 [dppwithnntip (npbuwdutin) Y hwtn 1200,00 100 120,0
33141182/513  |dhpwihnnbp (nphuwdubp) ¥ hwn 100 0,0
33141182/514  |dhpwthnnbip (npbuwdubp) QL hwwn 500 0,0
33141182/515  [hpwithnntip (npGUwdutip) Q< hwwn 500 0,0
33141182/516  |hpwthnnbip (npbuwdubp) Q< hwtn 400 0,0
33141182/516 |Jhpwihnntip (npbtwdutn) 9 hwn 1200,00 100 120,0
33141182/517  |dhpwihnnbip (npbuwdutn) Erd huwwn 400 0,0
33141182/517  |dhpwihnnbp (npbuwdutp) QL huwtn 3 000,00 100 300,0
33141182/518  |Uhpwihnnbip (npEuwdubp) Q< hwwn 400 0,0
33141182/518  [hpwinnin (npbuwdutn) < huwin 3 000,00 100 300,0
3314182/519  [hpwiinntip (npblwdutin) q¢ huwwn 40 0,0
33141182/519  |uhpwthnnbp (npbuwdubn) Q< hwn 4 500,00 10 45,0
33141182/520  [dhpwthnnbip (npbuwdutn) < husn 80 0,0
33141182/520  [dhpwihnnp (npbluwdutp) 9 huwtn 4 500,00 20 90,0
33141182/521  [Uppwihnntin (npbuwdutn) a< hwn 67 000,00 10 670,0
33141182/522  |dhpwthnnbp (npbuwdutin) Q< hwun 20 0,0
33141183/506  |qnunkip 9L hwwn 450 0,0
33141183/506  |qnunbip G hwtn 95,00 100 9.5
33141183/507 |qnuntip aC husn 100 0,0
33141183/507 |gnunbp DL hwn 95,00 50 4,8
33141183/508 |gnunbin 3¢ hwn 550 0,0
33141183/508 |qnunbp a< huwin 95,00 100 95
33141211/515  |PI2Hwlwl wy gnndhpltip ~ ac hun 1500 0,0
wwnwawukin
33141211515 [PO24WUWU Wyl qnnhpltin - a¢ huwin 590,00 500 295,0
wwnwawubp
3341211/516 | PO2HHwl wy gnpdhpltip ~ ¥< hwin 400 0,0
wwnpwgwbip
33141211/516  |PIZHwUWL wil gandhplib - %< hutn 390,00 100 39,0
wwpwauwubip
3314121517 |PIZHwlL wi grndhpltin - 9¢ huin 400 0,0
wwpwguwbn
33141211/517  [PO2Hulwl wyy gnndholiip ~ a< husn 500,00 100 50,0
wwpwawbp
33141211/518  [PI2wwl wii anndhplbin - 9< huwun 70 0,0
wwnwawubp
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pd2lwlwl wy gnpdhpubp -

33141211/518 q
s e < hwn 4700,00 30 141,0
33141211519 | PA2uwliusl wiy qndhplibn -
wwnwagwbin e huwn 7 500 0,0
33141211/519  |PIZ4WUwU wy qnpdhplib -
wwpwouwbibn &< hwun 110,00 2000 220,0
33141211/520 | P92 Wy gndhpUtn —
wwpwawubp 4 huin 30 000 0,0
33141211520  |PI2Uliwl wy gnndhplitin -
Wwpwawltin RAS hwtn 44,00 10 000 440,0
3314121151 |PI2UWU wyy gndhalitin -
wwnwawlbp i huwin 200 0,0
33141211/520  |PO2Uwluil wyi gnpdhplbip —
quLulTquwUﬁﬂ i hwin 3500 0,0
U wj| gnpohputn =
33141211/522  |RI2Uwlwil wyy gnnshputn
: wwpwgwihp a4< huwn 95,00 1000 95,0
dhwlwu wy gnpdhpubp —
3314121523 P92 JL annonputin
wwpwgwubin < hwn 4 660,00 15 69,9
33141211524 |PI2Uwlwl wy gnndhelbn -
wwpwqwbp e huwn 100 0,0
33141211505 | PY24wliuil wy gnnohputin ~
wwpwguwukbp < hwn 30 0,0
dolwlwl wy gnpdhpubp —
33141211525  |F L gnpopputp
il a< hwn 15 200,00 10 152,0
33141211506 |POlwlivil wy gnnshpubin —
wwnwgwltm %< hwtn 3000 0,0
d24wlwl wy gnpdhputip -
331412111526  |P92 JLGAnaik .
: wwpwgwlbp e B 170,00 2000 340,0
d2lwlwl wy gnpdhpubip —
3342527 |F JLgnnonputn
‘ wwpwgwbp < hwn 10 000 0,0
33141211/528 | PI2UWlWl wyi gnndhpltip — -
wwpwgwbn hwun 400 0,0
dabwlwl w) gnpdhpubip —
33141211528 |F L GRpsHRUGR
: wwnwaowlkp - hwu 850,00 100 85,0
dohwlwl wy| gnpdhpubp —
33141211/529 |P92 0 AnPEREUan
/ wwnwaqwtn < hwn 100 0,0
dalwlwl w)) gnpdhpubp —
331412115529 |92 L 4nnongHEn
/ ik gt 9< hwn 25 000,00 100 2500,0
33141211/530  |PI2Hwliwls wy gnpdhplan — qc
Wwnwgwbpn b 3 0,0
dolwlwl wy gnpdhpubp —
_— pd7 JL gnpdhpubin
211/530 i a< hwn 23 500,00 5 117,5
doywlwl wy gnpdhpubp —
20531 | 2 ot a¢ huwin 23 000,00 10 230,0
pd2lwlwl wy gnpshpltin -
33141211/532
i wwnpwgwubp gt husn 20 0,0
dolwljwl wy gnpdhputin —
S5741 pd? JL gnpdhpubin
3141211/532 a< hwin 23 333,30 10 2333
dolwlwl wj| gnpdhputip -
33141211/533  |P r
wwpwgwbp K hwin 20 0,0
d2ywlhwl wy| gnpdhpubip —
33141211 R Lgnpenpian
il i Q¢ hwn 23 500,00 10 235,0
doljwljwl wy gnpdhpubip —
33141211/534  |P92 i grnenphbn
wwpwgwbp b hwtn 20 0,0
pd2bwlw wy| gnpshplbp —
33141211/534 Pecicxdmin 8¢ hwin 23 500,00 10 235,0
dplwlyul wy| gnpdhputip —
33141211/5 Ro2 JL gnpangpltp
e wwpwgwbn < hwn 10 0,0
pdlwlwl wy| gnpdhplbin -
33141
2536 | o e =V huwn 10 0,0
dlwlwl wy gnpdhpubp -
34237 |F
wwpwawitn ¥ huun 10 0,0
pd2lulwl wy gnpshputip —
33141211538 |° 2 q< hwuwn 55 000,00 10 550,0
daljwlwt wy gnpdhpubip -
33141211539 |° ILgnnongltin
Wwpwawbp < huwn 1000 0,0

Crpanuya 4




d2lwlwl wy gnpdhpllip -
33141211540 |P G¢
wwnwqgwukn i 70 0.0
Po2Uwlwl wy| gnpdhpltip -
33141211/540
i ac huwn 4500,00 30 135,0
pd2Gwlwl wyy gnpdhpltin -
33141211/541 9
wwpwgwubp iy 1000 0.0
pd2bwliwl wy gnpdhpubip -
33141211/542 £
Wwpwauibn o hwtn 1000 0.0
pd2ywlwl wy gnpdhplbp —
33141211/543 Qc
wwpwgwubp st 500 40
g U .
3314121/543  |P924wlwl wy gnpdhpubin 9¢ b 550,00 200 110,0
wwnwawbn
33141211/544  |P924Lwl Wyl grndhpltin - 9¢ huw 100 0,0
wwpwgwubn ;
33141211/544 | PI2UWLWIL Ly gnnBhpltin — q< hwwn 4500,00 100 450,0
wwnwqgwubp
33141211/545 | PI2Ulls wyp gnndhputip - q¢ huwn 200 0,0
wwnwgwubn
33141211/545  |PI2UWUWU Wiy gnndhpUbin - %< Wi 2 600,00 100 260,0
wwpwawbp
33141211/546  |PI2UWUWL wy gnndhplbin — 9¢ i 40 0,0
wwpwguwubn
d u Shputip =
33141211/546 | PI2HUY Wit gnpdhputn 9¢ s 3.900,00 10 39,0
wwnpwgwubp
33141211/547  PI2UWUWL wy gnpdhplibin - a< huwin 50 0,0
wwnwagwbbp
331412117547 |PO2UWUWL wyy gnnShplbp — a< hun 3900,00 20 78,0
wWwpwgwubn
33141211/548 |P92Hwlwl wy gnpdhpubin 9¢ huwin 50 0,0
wwpwgwubp
33141211/548  |PI24wliwl wyg gndhplibin — 9¢ b 3900,00 50 195,0
wwnwawbn
33141211/549 | PI2Hwliwll wy gnnhpubip — qc huin 150 0,0
wuwpwawubn
33141211/549  |PI24WUWU wy| gnpdhpliin — 4¢ B 3900,00 70 273,0
wwpwawlbp
d U Shpubin -
33141211/550 | PO2Hlwl wi gnphputin qc b 730 0,0
wwnpwgwubp
33141211/550 | PA2Uwliwl wyi grpdhpubin - a¢ hwn 2 500,00 300 750,0
Wwpwawlbn
33141211/551  |PI2Hwlwl Wy gnndhpltin - 9c hwn 12 0,0
wwpwgwubp
7 i —
33141211/552 | Pe2uwlnl wi gnpohputin 9¢ e 685,20 25 17.1
wwnwgwubp
33141211/553 | PI2Uwlwl wy gnndhpubin - q¢ huwn 10 0,0
wwpwawubn
33141211/553  |PO2Uwlwl wy gnpdhplibn — a< b 36 050,00 10 360,5
wwpwgwubp
33141211/554 | PO2UWUWU wy gnpdhpbin - ac huwin 30 0,0
wwnwawbbn
33141211/554 |P92UWUWY wyl gnndhpltn ~ 9¢ huwin 65 000,00 20 1300,0
wwpwagwubn
33141211/555  |PO2Uwlwl wyi gnndhplibn — Qg hwn 1200,00 35 42,0
wWwpwawubn
6 =
33141211/556  |PI2iwUwl wyi gnpdhglin 9< huwin 1080,00 20 21,6
wwpwawbp
3314121211155 | pdalywlywl wy) Uyniptp L hwn 14 950 0,0
33141212/1155 | pdoljwljwt wy| Uynipbn Bre hwwn 98,50 50 4,9
33141212/1156 | pdohwlywl wy Wynipkp 94 hwwn 3500 0,0
33141212156 | pdplualjwili wy| Uynuatip < hwun 145,00 2000 290,0
33141212/1157 | pdolwljwi wy| ujniplip S hwin 100 0,0
33141212/1158 | pdplwlyuwit wy| ujniebip < hwn 4000 0,0
33141212/1158 | pdaljuiljut wyy Uynibin 21 hwn 39,50 1000 39,5
334021159 | pdolwluils wyy Uynipbip G< huwn 1500,00 10 15,0
33141212/1160 | pdolulwli wy ynupbp q¢ hwin 900 0,0
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331412121160 | pdolwljwl wy| bynyebip Q< hwn 2 900,00 300 870,0
33141212/1161 | pdolywlui w| Yynipbin 9< hwn 3780,00 100 378,0
33141212/1162 | pdolwluili wy Ujnipbip Q< hwwn 5030 0.0
3314012121163 | pdpljwljwit wy| Ujniabp 9L hwun 20 0,0
3STH212/1163 | pdoluiljwl wyy Ujniptip G hwwn 8 400,00 100 840,0
33141212/1164 | pdpliwluits wyp Upnuahip Q< hwun 10 0,0
331412121164 | pdalwlwt wy byniphin S hwn 6 000,00 5 30,0
33141212/1165  |pdoljwlyul wy| Uynisbip G< hwun 3 0,0
331412121165 | pdoljwljwt wj| Uyniphip 9L hwun 12 000,00 2 24,0
33141212/1166 | pdolwljwl wy Uyniptin e hwn 100 0.0
33141212/1167 | pdoljwlywl wy| Uyniebip 94 hwun 300 0,0
3314121211168 |pdoluiljw wj) Uyniebip 94 hwin 1 0,0
33141300/510 |abinungubip pdaluu ng untiphy S hwwn 30 000 0,0
33141300/510 | abnungubp pdylwl ng uwnbiphy 94 hwun 37,50 10 000 375,0
33141300/511 _|abinlingUtip pd4uwl ns untiphy 9< hwtn 130 000 0,0
33141300/511_|8binungubin pdoljuls ng uinbiph ac hwn 38,38 50 000 1944,0
33141300/512 | &kinungubip pdolwl ng uinbphy Q<L hwun 27 000 0,0
33141300/512  |abinungubip pdoluili ng unbiphy < hwn 37,84 10 000 378,4
33141300/513 | &tinungubip pdaljwl ns uwnbiphy &< huwn 23 000 0,0
33141300/513 | &kinungUbip pdljwls ng uwnbiphy < hwwn 54,00 7000 378,0
33151220/501 | ppdwstiwhl nhdwy < hwtn 2000 0,0
33171200/502 | whgquywgiwl nhdwl e hwn 400 0,0
33171200/502 | wugquiwgdwi nhdwy < hwiwn 1 200,00 100 120,0
33191260/501  |wpjwl thnfulibpwpldwl anwinhyubin G hwwn 40 0,0
33191260/501  {wpjwl thnfutibpwnldw 2unwnhyubip e, hwn 18 000,00 20 360,0
33191490/501  |ubpwplydwl wndutp Qe hwwn 10 0,0
33711490/502 | wywhwywuwlubp 9L hwun 1500 0,0
331411M1/506 | Guysnis uwybnuitihubip Qg hwuwn 500 0,0
33141111/506  |Ywsnit uwybinwhutp Qs hwn 154,00 5000 770,0
33141136/531  |Ywpbwnbputip Q<L huwun 250 0,0
33141136/531 | Lwpbwbputp < hwwn 175,00 100 126
33141211/561 | POZUWY Wil gnndhpltin — 9¢ huwtn 3 0,0
”*dmﬂ&”fﬁm qnpéhputip -
33141211/561 i Linu.lqwut.n 9z huwitn B 3 865,0
33141211557 |PIZHbiwil wy gndhpliin - SYe hwn 30 0.0
wwpwawbip
33141211/557 | RO2HMLsl wig gandhputin - 9< huitn 9 000,00 30 270,0
wwpwgwutip
2Uswinnijwy gnigwuwppbin
33191560/501 | (Quswnnipjul Ujwundwdp huljnnnigni GL hwn 600 0.0
hnwbwywgutint hwidwn)
2Uswnnipjwl gnigwuwnplp
33191560/501  |(uswnnigwl Ulwwndwip huljnnnuz)niu Q< huwiin 3 000,00 400 1200,0
hnwlwbwalbint hudwn)
33141136/532  |ywpbntiputip Qg hwin 100 0,0
33141136/532  |Ywpbinbputip 9< huwin 225,00 100 22,5
33171400/502 |Jtpwlbunwlwgdwt nhdwl e hwun 10 0,0
33171400/502  [JEpwybiunwlwgdwl nhdwl S< hwwn 5490,00 10 54,9
33141182/524  |dhpwihnnbip (nphuwdubn) q< hwwn 100 0,0
33141182/524 |Uhpwihnnbip (nnbuwdutin) q¢ huwtn 3000,00 100 300,0
33141211/564 | PO24wlL Wi GAnBhoLEn - 9< hwun 830,00 150 124,5
wwpwawubip
33141212M70 | pdalulw wy) Wnuptin G hwn 1320,00 300 396,0
33141157/510  |upwnwpubip - uwypbip S hwn 600 0,0
33141157/510  [upwnwpubip — uwjpbp G hwin 14,00 400 5,6
33141136/542  |Ywpehwnbpubp 4< huwin 374,00 50 18,7
33141136/536  |Ywpbnbnubp G< huwin 54,90 1500 82,4
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33141212/1169 | pdolwljwu w)| ujniatip Q< hwtn 300 0,0
33141182/523 dhpwihnntin (npbuwdutip) EYd hwn 50 0,0
33141182/523  |dhpwithnnbip (npbuwdubip) Q<L hwun 3 000,00 50 150,0
33141136/535 | ywpbinbiputip QL hwun 200 0,0
33141136/535  |ywpbntiputip < hwn 65,00 400 26,0
33161120/502  [Uhpwpnidwlwu gnndhpubip G hwwn 3 200,00 13 41,6
33141136/540 |ywpbinbputin 9< hwn 100 0,0
33141136/540  |jwpbwbpubp G hwn 374,00 100 37,4
33141211/565  |PI24HLL wyt gnpdhplibn - 4< hwn 12500000 2 250,0
wwpwgwbbip
33151220/502 | pywdlwjhl nhiwl 9L hwwn 700,00 500 350,0
funtwdugdwsd pRYWALR
dwinwlwpwpdwy uwppkp, npnt
33151270/503 uhnwnimg L_E f&pL[UJéEEJJfTD HE qC huwin 20 0,0
phnuiuhupnnd
funbwwgwd prywstf
duwinwlwpwpdwl uwppbn, npny
33151270/503 UNnLumLimE mrl . qwagi ”':h R 9< huwin 8 000,00 30 240,0
ahEnuphunngd
331412n/560 | PO24wUwl Wit gnpshaliin - 9< huwin 3.000,00 20 60,0
wwpwawubn
deljwbqudjw cquugnpdiwy ny
33141100/518 | phuhwlwl pdolwluwl — g hwtn 3 000 0,0
htdwwnninghwlwy wwnwgwitn
dbljwlquidiw oquugnpddwl ny
33141100/518  |phdhwliwu pdoluwlwl - Q< hwwn 30,00 1000 30,0
hbdwwnninghwliwl wwnwawutn
33141211/563  [PI2UwLWU wyi gnnéhpltin %< huwtn 50 0,0
wwnwawubin
33141211/563 |PI24WYWl wyt gnpdhplibn ~ 9< huwn 1000,00 100 100,0
wwnwguwubn
33141157/509  [upinwiplitip — uwypbip QL hwn 18,99 50 0,9
33141136/514  |Jupbinbputp e huwiwn 1500 0,0
33141136/514  |Ywphnbputp She hwun 175,00 500 87,5
S3MA2N71 | pdpuiljwl wy| Uyniphip S hwuwn 40 0,0
33141136/534  |jwphinbpubp Qg huwtn 300 0,0
33141110/502  [Uhpwljwwtip q¢ hwuwn 50 0,0
33141212M73 | pdplywljwit wy uynyptip < hwn 2000 0,0
33141111/507 | Ywysnib uwgbinwiupbip Q< hwwn 2000 0,0
33141136/533 | wpbunbpubn < hwun 500 0,0
33141136/533  |jwpbintipubp Q< hwin 175,00 500 87,5
33141157/507 _ |upunwinubip — uwjpbp < hwwn 2000 0,0
33141157/507  |upunwptbip — uwyptip o hwun 14,00 300 7,0
33141110/503  |dhpwlwuwbp Q< hwn 50 0,0
3341212172 | pdpljwlwl wy Yynipbp Q< hwn 2000 0.0
33161120/503 [yhpwpnidwlul gpdhpltn qc¢ hwun 2 200,00 10 22,0
33161120/501 |dhpwpnidwlwl gnpdhplbin i hwn 3 200,00 8 25,6
BaMItTjgee |2 A Wl gRnShakap - < huitn 50 0,0
Wwnwawutn
3314121274 |pdolwljw w)( Yyniabip 9L hwn 2700 0,0
33141136/538 |ywpbuntpltp G huwin 3000 0,0
33141136/538  |Lwpbinbnltip 4< hwtn 54,90 20 000 1098,0
33121180/504 wpywb Suzdwl swihdw uwpp Q< o 100 0.0
(nnundbunn)
33141136/539  |qwpbinbputip Q< hwn 54,90 7 600 417,2
33141157/506  |upinwpubip — uwypkip Q< hwin 600 0,0
33141157/506 _ [upunwiplubip — uwptip < hwun 14,00 400 56
funtiwdugqwd pRrUWwdth
duwinwlwpwpdwl uwppbp, npntp
33151270/502 S P S< hwn 20 000,00 20 400,0
mhinwuhunn]
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33141157/508  |upinwpubip — uw)pbip Q< hwn 2000 0,0
33141157/508  |upunwiplap — uwiptip G hwin 18,99 1000 19,0
33141136/541 | wphnbpltp Q< huwn 300 0,0
33141136/541 | jwpebnbpubp Q< hwwn 374,00 200 74,8
33171400/501 |ytipwltunwuwgdwl nhuuwl G< hwu 5490,00 3 27,5
33141211566 | PI24WUWU wiy gandhplin — %< huwin 200 0,0
wwpwawutip i
33141211566 |PO2HMUWU Ly gandholisp - 4< hwtn 835,00 500 417,5
wwpwawbip gy
33141136/537  |jwphbwbpubnp G hwuw 3 000 0,0
33141136/537  |Ywpbwbnputp e hwn 54,90 20 000 1098,0
33141157/513  |upwnwptbip — uw)ptip S hwn 4 500 0,0
33141157/513  [upinwplibp — uwypbip " hwun 14,00 500 7,0
33141129/511  |nhdwl < huwn 80 000 0,0
33141129/511  |nhdwy G huin 14,90 20 000 298,0
33141211/559 |PI2uwliwl wyignndhplin - < hwn | 4500,00 10 45,0
wwpwagwubp
33141110/504  [yhpwlwuwytip L hwn 100 0,0
33141120/501 |utindhsttip 9< huwtn 10 0,0
33141121/549 | dhpwpnidwlwu phibn G hwn 300 0,0
33141121/550  [dhpwpnidwlwl phibp G hwwn 420 0,0
33141121/550  |uhpwpmdwlywl phtp QL hwin 2500 420 1050,0
33141121/551  |dhpwpnidwlwt pbian a< hwtn 1000 0,0
33141121/552 | Jhpwpnidwljwl phbp < huwn 900 0,0
33141121/553  |Uhpwpnidwlwu phibp < hwn 6 250 0,0
33141121/553 | Uhpwpnidwlwl phibp Q< hwuwn 975,57 5 000 4877,9
33141121/554  |Uhpwpmdwlwu phjbp e hwuwn 20 0,0
33141121/554 | hpwpnidwlwl phitip S hwuw 6200 30 186,0
33141121/556  [Uhpwpnidwlwl phibp QL hwin 40 0,0
33141121/556 | dhpwpnidwljwt phybn < huwin 6200 40 248,0
33141121/557  |yppwpnidwlwl phijlp Q< hwn 40 0,0
3314121/557  [yppwpnidwlwu phibp S hwtn 6200 40 248,0
33141121/558  |Jhpwpmdwlw phtp L hwun 24 0,0
33141121/559  |Jhpwpnidwlw phbp Q< hwuwn 24 0,0
33141121/560  |yppwpnidwlwl phibp G hwwn 24 0,0
33141121/561  |dhpwpmdwlwu phibp G hwin 688 75 51,6
33141121/562  |dhpwpnidwlwl phjbp e hwn 640 150 96,0
33141121/563  |yhpwpnidwlwl phibp < hwwn 300 75 22,5
33141121/564  |hpwpnidwlwl phjbp o hww 565 0,0
33141121/564  |hpwpnidwljwl phybp S hwwn 756,756 360 272,4
33141121/565  [dhpwpnidwlwl phibn Q< hwuwn 490 0,0
33141121/565  [Jhpwpnidwlwl phibp Qg hwn 904,7 360 325.7
33141121/566  |Jhpwpmidwlwl phibp < hwn 205 0,0
33141121/566  |hpwpnidwlwl phitp Qg hwwn 627,7 120 75,3
3314121/567  |hpwpnidwlwl phikp Qe hwn 250 0,0
33141121/567  |Uppwpnidwlwl phybp < hwtn 552 250 138,0
33141121/568 | Uhpwpnidwlwu phtp < hwtn 325 0,0
33141121/568  |Uhpwpnidwlwl ehytp Shes hwn 1210,43 250 302,6
33141121/569  |dhpwpnidwlwu phijbp YL hwuwn 200 0,0
555 200 111,0
33141121/570  [Uppwpnidwlwu phitp 9L hwwn 25 0,0
33141121/571  [dhpwpnidwljwl phitip G huwwn 100 0,0
33141121/571  |dhpwpmdwlwu phitp L hwwn 660 100 66,0
33141121/572  |dhpwpnidwlwl phibp G hwwn 50 0,0
33141121/572 | Uhpwpnidwljwt phibp 94 huin 840 50 42,0
33141121/573  |Uhpwpnidwljwl phitp S hwin 12 0,0
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33141121/573

Uhpwpnidwlw bt S s hwn 5041,6 12 60,5
33141121/574  [Jhpwpnidwljwl ptitp S hwwn 125 0,0
33141121/574  |dhpwpnidwlwt phijkp 9< hwwn 1500 125 187,5
33141121/575  |Jhpwpnidwlwl phjbp S< hwn 225 0,0
3314121/575  |dhpwpnidwluwl phtn 9L hwun 2500 205 562,5
33141121/576  [Jhpwpmidwlwu phibp B huwn 1100 0,0
33141121/577  |dhpwpnidwlwt phitip Q< hwn 200 0,0
33141121/578  |dhpwpnidwlwu phibn qC hwun 2100 0,0
33141121/578  |Jhpwpnidwlwl phibp F< hwwn 1300 2100 2730,0
33141121/579  |Uhpwpnidwljwl phbp 7 hwn 250 0,0
33141121/579  |dhpwpnidwlwl phtn G< hwn 1200 250 300,0
33141121/580 | dhpwpnidwlwl phjtp Qs huwwn 3950 0,0
33141121/580  |ppwpnidwlwl phibn q< hwwn 1400 3600 5040,0
3314121/581  |dhpwpmdwlwu phitip Qs huwn 100 0,0
33141121/581  |Jhpwpmdwlwl phitp Q<L hwn 2500 100 250,0
33141121/582  |dhpwpnidwlwl phitn GC hwn 420 0,0
33141121/582  |Uhpwpnidwlwl phtip <, hwtn 15000 480 7200,0
33141121/583  |yppwpmidw ul phbp S< hwn 250 0,0
33141121/583 _|dhpwpnidwlw phjtp < huwtn 350 250 87,5
33141121/584  |hpwpnidwlwt phibn Q< hwn 1800 0,0
33141121/585  |dhpwpnidwlwt phitip 9L hwwn 150 0,0
3314121/586  |yhpwpnidwlwt phitp Q< hwn 1600 0,0
33141121/587  |Uhpwpnidwlwl phytp q< hwn 2700 0,0
33141121/590  [dhpwpnmidwlwl phytip 9 hwn 50 0,0
33141121/590 | Uhpwpnidwljwl phytip 9L hwwn 6200 80 496,0
33141121/591  |yhpwpnidwljwl phibn Spe hwn 150 0,0
3314121591 |Uhpwpnidwlwl phibp Q< hwn 2100 150 315,0
33141122/501  |dhpwpnidwlwt Yuphsubp QL hwun 3 0,0
33141122/501  {Jhpwpnidwlwl Yuphsubip GL hwun 94990 2 190,0
33141122/502  |yhpwpnidwlwl Ywphsubp Ehe hwn 2 0,0
33141122/502  |Uhpwpnidwlwl Ywphsutip e hwn 193000 579,0
33141122/503  |yhpwpnidwlwl Ywphsubp G hwn 35 0,0
33141122/503  [Uhpwpnidwlwl Guwnhsubin Qg huwn 50000 35 1750,0
33141122/504  [dhpwpnidwljwl Guwphsubp She hwn 35 0,0
33141122/504  |yhpwpnidwlwl Ywphsubp q< hwn 50000 35 1750,0
33141122/505  |hpwpmdwlwu Ywphsubp Ghe hwwn 5 0,0
33141122/505  |dhpwipnidwlul Yuphsubn ac hwwn 7000 5 35,0
33141122/506  |Uppwpnidwlwt Guphsbin Q< hwin 5 0,0
33141122/506  [Jhpwpnidwlwl Guphsutip G hwuwn 7000 5 35,0
33141122/507 | Uhpwpnidwljwl Ywphsubip QL hwwn 50 0,0
33141122/507  |Jhpwpmdwlwl Yuphsubp s hwwn 20000 50 1000,0
33141122/508  |Jhpwpnidwlwl Yuphsubp qg huwn 100 0,0
33141122/508  |Jhpwpndwlwl Ywphsubip G< hwuwn 20000 100 2000,0
33141136/543  [Ywpbwnbtipubp q< hwuwn 5 0,0
33141143/502  |uwph$hlwwnnp 9< huin 4.5 2000 9,0
33141147/502 | phnujuhwih wubnutp 3L hwuwn 30 0,0
33141147/502 | phnuwuhwih wubinutip G hwn 1400 20 28,0
33141183/509 |gnunbip < huin 1200 20 24,0
33141183/510  |gnunbp G< hun 1200 10 12,0
33141211/567  |PO2Ll waL gnndhplitin - 4< hwin 5 0,0
Wwpwawubp
33141211/567 |PI2uwliwt wil gnndhelbin ~ 9c huwin 3000 15 45,0
wwpwgwubn
33141211/568  |PI2Hwlwl Wyl gnndhpltin ~ 9¢ huwin 80 0,0
wwpwawlbn
33141211/569 |POHHUW wiL Gandhautin = 9 huwtn 4 0,0
wwpwawubin
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33141211/570 | PI24wUwl iy gnpdhplb A< huutn | 0,0
Wuwpwgulbp )
33141n/57)  [PORHwll wyy qndhplibn ~ 9< huin | 0.0
wWwnwgwubp i
33141211/572 Tjiﬂﬁ;‘:}“ annaheliin - G< huwin 3500 20 70,0
33141212/1253 | pdplwljw wy| Uyniptip G< huwwn 50 0,0
33141212/1254 | pdpljwljwl wy) yniabip Qe hwuwn 20 0,0
33141212/1255 | pdplywliwl wy) Uynipetip Q< hwwn 100 0,0
33151200/503 fﬁ;ﬁ“”m“ el ~ At [ huitn 20 0,0
33151200/503 fzi;“::wm“ Papwpuh = dbgwnults | o hwtn 6000 30 180,0
33161120/504  |hpwpnidwliwl gnpdhputin Q< hwn 8 0,0
33161120/505 | yhpwpnidwlwl gnpdhputip YL hwn 10 0,0
33161120/506  |hpwpnidwlywl gnpdhpubip e hwn 10 0,0
33161120/507 | dhpwpmdwlwu gnpdhputip Ge hwuwn 20 0,0
33161120/508  |Jhpwpnidwljwl gnpdhpubip e huwin 20 0,0
33161120/509  |Uhpwpnidwlwu gnpdhpubn Q< hwn 45 0,0
33161120/510 | hpwpnidwljwl gnpdhputn G hwwn 2500 6 15,0
33161120/511  |yppwpmidwlwu gnpdhgutip e hwn 10 0,0
33161120/512  |dhpwpnidwlwl gnpdhpubp G hwn 10 0,0
33161120/513  |dhpwpmidwljwl gnpdhputin Q< hwn 10 0,0
33161120/513  |Uhpwpnidwlwl gnpdhpibip S hwwn 3500 10 35,0
33161120/514 | Uhpwpnidwljwl gnpdhpubp q< hwtn 3 0,0
33161120/515  |Uhpwpnidwlwl gnpdhpubn Q< hwn 2 0,0
33161120/516 | Jhpwpnidwlwl gnpdhputip S hwwn 10 0,0
33161120/517  |dhpwpnidwlwl gnpdhputip Qe hwn 10 0,0
33161120/518  [yhpwpnidwljwt gnpdhpubin G hwwn 5 0,0
33161120/519  |ubpwpnidwlwl gnpdhpltip < hwn 18 0.0
33161120/520  |dppwpnidwlwu gnpdhputip S hwin 4 0,0
33161120/521  |dhpwpnidwlwl gnpdhputin S hwn 50 0,0
33161120/522  |dhpwpnidwlwl gnpdhputin 9L hwn 4000 8 32,0
33161120/523  |dhpwpnidwlwl gnpdhputbin K< hwwn 3 0,0
33161120/524  |yhpwpnidwlwl gnpdhputip S hwuwn 3 0,0
33161120/525  |yhpwpnidwlwl gnpdhpubip Qe hwn 30 0,0
33161120/526  |Uhpwpnidwlywl gnpdhplibtip Q< hwun 30 0,0
33161120/527  [Jhpwpnidwlwl gnpdhputip G hwwn 50 0,0
33161120/528  |Jhpwpnidwlwu gnpshputip < hwn 20 0,0
33161120/529  |Jhpwpndwlwl qnpdhplbip SV hwun 10 0,0
3316120/530  |Jhpwpnidwljwls gnpdhpibin QL hwn 1 0,0
33161120/531  |dhpwpnidwlwl gnpdhpubip Q< hwwn 1 0,0
33161120/532  |Uhpwpnidwlwl gnpdhpubp Q< hwtn 1 0,0
33161120/533  |dhpwpnidwlwu gnpdhputip q< hwun 70 0,0
33161120/533  |Uppwpnidwljwl gnpdhputp q< huwn 29000 50 1450,0
33161120/534  [dhpwpnidwlwl gnpdhputp < hwn 20 0,0
33161120/534 | dhpwpnidwlw gnpdhpubp B hwwn 92000 20 1840,0
33161120/535  |Uhpwpnidwlwl gnpdhpubin qC hwwn 15 0,0
33161120/535  |dhpwpnidwlwu gnpdpputin G4 hwn 91000 15 1365,0
33161120/536  |dhpwpnidwlwl gnpdhputbip 9 hwun 35 0,0
33161120/536  |yppwpnidwlwl gnpdhpubip 9L hwwn 30000 65 1950,0
33161120/537  |dhpwpmdwlwu gnpshpubip < hwuwn 30 0.0
33161120/537  |yhpwpnidwljwl gnpdhputin < huwuwn 88000 50 4400,0
33161120/538  |dhpwpmdwlwl gnpshputip Q< hwuwn 50 0,0
33161120/538  |dhpwpnidwljwlu gnpdhplbn S hwwn 63500 50 3175,0
33161120/539  {Uhpwpnidwljwl: gnpdhpbip G hwn 50 0,0
33161120/539  |dhpwpnidwlwu gnpdhplibp QL hwun 63500 20 1270,0
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33161120/540

Uhpwpnidwlw gnpdhpubp QL hwun 600 2 12
3319130/501 | pdolwluwl dwhGwljwutp e hwtn 40900 10 409,0
34321210/501  |qugbph wpunwubndwu funnnduwlubp e hwuwn 20 0,0
35121280/501  |whsubp S hwn 1 0,0
33141174/507 | pdolwlwl uwppbiph hwdwpwdnubip G hwun 45000000 1 45000,0
38591200/501 phdhwlwl jwpnpwnnphwnud qc - 1 o
uhpwnynn uwpptin :
33191200/502 | pdplywlwi ubinwiutin 2 hwuwn 1 0,0
33111360/501 | nyunpwéwuwght uwnpwnpndubp Q< hwn 1 0,0
24451140/508  |whuinwhwlhs Ujniptin G Uhingpwd 10 0,0
24451141/502 | whunwhwuhg hbinmiy Yyniptin G< thup 750 0,0
32351230/514 | nbuingbiu Uwiplbliph dwujwbultn Q< hwtn 4000 0,0
32351230/515 | nblunghil Ujwpubiph dwuwtuutin 9L hwin 2500 0.0
emvaragg [ IUN Bglel kb espp 9< huwtn 100 0,0
(wnnundbun) )
dElwlgwidjw oguwgnpddwl ny
33141100/519  |phdhwlwl pdalwlul - Q¢ huwin 1000 0,0
htidwinninghwlwt wwnwawubin
33141110/501  |yppwiljuaytin G< huwtn 50 0,0
3314110/505  |dhpwlwuytip Q< hwn 50 0,0
33141110/506  [dhpwluugtin &< hwtn 100 0,0
33141121501 [dhpwpnidwlwl phtp L hwn 300 0.0
33141121/502  |Jhpwpnidwlwl phjbp < hwin 1000 0,0
33141121/503  |Uhpwpnidwljwl phtip QL huwn 900 0,0
3314121/504  [Uhpwpnidwlwl phibp QL hwn 24 0,0
33141121505 |Jhpwpnidwlwl phjtp G hwn 24 0,0
33141121/506  |Jhpwpnidwljwt phtp d< hwwn 24 0,0
33141121/507  |Jhpwpnidwlw phbp 9< huwin 25 0,0
3314121/508 | dhpwpnidwljwl phitip 9L huwn 200 0,0
33141121/509  |dhpwpnidwlwl phibn QL hwn 1800 0,0
33141121/510  |yppwpnidwlwl phjbp G< hwuwn 150 0,0
33141121/543  |yhpwpnidwlwl phbp e hwin 1600 0,0
33141121/544 | ybpwpnidwlwl phitp o hwwn 40 0,0
334121/545  |dhpwpnidwlw phibp S huwn 300 0,0
33141128/501  |Jhpwpnidwlwl wubinubn % hwn 70 0,0
33141128/502  |Jhpwpnidwlwl wubinubp < hwn 30 0,0
33141128/503  [Jhpwpnidwlwl wubnubp G hwn 85 0,0
33141128/504  |Jhpwpnidwlwl wubnubp G hwn 15 0,0
33141136/501 |Lwpbwbiputin G< hww 1000 0,0
33141136/502  |Ywpbinbipubip QL hwuwn 1000 0,0
33141136/503  |Ywpbtwnbpubp B hwn 300 0,0
33141136/504  |wpbwbpubp aL hwun 5 0,0
33141145/504  |wuqquywgdwl wubnubp q< hwin 150 0,0
33iarziysig  [PI2bulivli wygnndhplibn - 9< huitn 200 0,0
wwnwgwutin
33141211562 | PORUwlll wi gnndhplii — 9< huwin 10 0,0
wwnwawbin
33141211573 |PORULl wyg grndhplbip - % husn 10 0,0
wwpwgwukip
33141211574 |POHlil g gnndhiplion - % hun 12 0,0
wwpwgwubp
33141211/575  [PI2HwlwL wi gnndhplin - a< huwin 10 0,0
wwpwgwubip
33141211/576 P92l wiL grndhpltin - a< huin 100 0,0
wwpwqwubp
SElaizisEy  |[PUE AN Wy ganahotln ~ G< huwtn 50 0,0
wwpwagwtip
33141211/578 | PI2Uwlwl wyp gnpdhpltin - q¢ Pk 80 0,0
wwnwawutin
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dolwlwl wy) qnpdhplbn —
33141211/579 Ejmwmﬂq nohgliin 9c huwn 4 0,0
33141211/580  |PI2UWliwl wy gnnShplbn - 4¢ A i 0,0
wwpwguwubn '
33141211/581 |24 HLul wiy gndhlin - 3¢ huin i 0,0
wwpwagwubn s
33141212/501 | pdoluljuwts wy Ujnuehin 9L hwin 100 0,0
33141212/502 | pdoljwlwt wj| Uyniatip L hwuwn 5030 0,0
33141212/503 | pdyljwlywu wj| Uynitip Q< hwin 100 0.0
33141212/504 | pdolwljwi wy Ujnuebip 9< hwwn 300 0,0
33141212/505 | pdoljwlwt w)| Uynistip q< hwwn 1 0,0
33141212/506 | pdslwlwt w)[ Uyniatin G hwtn 300 0,0
33M41212/507 | pdpljwljwiu wy| bynialip FE hwn 40 0,0
33141212/508 | pdpluljwt wj| Uynuatip S< hwin 50 0,0
33141212/509 | pdaluljuwts wy Uynuplip 5 hwwn 20 0,0
33141212/510 | pdoplywilyuwt wij| Uyniphbp ge hwin 100 0,0
33151220/503 | prywduwhu nhdwy G< hwn 2000 0,0
33161120/541 | dhpwpnidwljwl gnpéhpubip QL huwitn 8 0,0
33161120/542 | dhpwpnidwlwy gnpdhpubip e hwn 10 0,0
33161120/543 Yhpwpnidwljwu gnpdhputin L hwwn 20 0,0
33161120/544  |yhpwpnidwljwl gnpdhplbip Q< huwwn 10 0,0
33161120/545  |Jhpwpnidwlwu gnpdhputin 9< hwn 30 0,0
33161120/546  |Uhpwpmdwljwu gnpéhpubip S hww 20 0,0
33161120/547 | Uhpwpnidwljwl gnpdhplibn 'z hwun 1 0,0
33161120/548  |yhpwpnidwlwi qnpéhpubip < hwin 1 0,0
33161120/549  |dhpwpnidwlwu gnpdhpubip e hwin 1 0,0
33191490/502  |ubpwpluwt wndubip < hwun 10 0,0
hwlwlbuhs (whnhubuynhly) -
33621641/502 h‘“h‘[;‘ijz“mh” dhonqhbbn < huwtn 1500 0,0
wljw wuwnhubuyn =
33621641/503 wm“mmhzl'];: dhgn%t];:b b 4< huwn 50 0,0
wpnpwnnp wgnwignt
33691421/520 (lmfwzmmghmq:mﬂiu :” 9¢ thup 3 0,0
wpenpwiwnnp wgnwnt
33691422/501 (‘”tfwghhmtfbmq;m ; u‘i d”qnwummn Q< Yhingpwd 5 0.0
33691823/501 |$npdwntihhnh unwunwnu [nidnyp 9L hwn 700 0,0
33711490/503 | wwhuywluwlubip QL hwwn 1500 0,0
34321210/502  |quqbiph wpmwubiwndwy [unnnduwlubp QL hwwn 20 0,0
35121290/502 |unhsubip Q< hwuwn 1 0,0
33600000 0,0
nbnnpuyp b wunpduugpwtynystp 0,0
33611100/504  |oubuypwgn) a02bc01 BE hwun 600 0,0
33611100/504  |odbwypwgny a02bc01 q< hwn 10,2 600 6,1
33611120/509  |$pwidninpnht: AO2BAO3 GLs hwin 2000 0,0
33611120/509  |pwdnnhnhli AO2BAO3 Q< hwn 838,78 1000 838,8
33611120/510  |$wuninhnhti AO2BAO3 s 14 huwin 5000 0,0
33611130/509  |wwnpnuyhty a03ba01, s01fa01 Q¢ hwn 3000 0,0
33611130/509  |wwnpnuyhu a03ba01, sO1fa01 9C hwwn 52,14 1000 52,1
33611140/504  |cunwlubupnl a04aa0i S hwwn 129 10000 1290,0
33611160/505  |dbwnnlynuypuwidhn a03fa0l qL hwn 9550 0,0
33611160/505 | dtnnlinwypwdhn a03fa01 S hwuwn 43,061 6000 258,4
33611170/502 [npnunwdbinht a03ad02 < huwn 150 0,0
33611170/502  |npnunwdbipht a03ad02 9 hwin 154,2 30 L
33611200/508 | |nybpwdhn a07da03 L hwin 7050 0,0
PNWURL (PhWIRTR AAfARRMART),
nhpnruhts (nhpn$iuwihtip
33611440/502  [uwwinphnuwwlwl $nudwin), whphrnopuhu Q< hwn 152,49 100 15.2
(whnhnopuhth hhnpnpinphn),
nhlininhtnieihn  ATIFX
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33611470/502  |wwlwinypuwgn) Q< hwn 300 0,0
33611470/502 | wwinnwpwgn, < hwn 12000 100 1200,0
33621100/509 L‘gﬁ':}‘gh“ Buhaul bTati), 05ba0R, [ huwn 3800 0,0
ht Ul Ub 5ba03,
33621100509 | mu:;[;h alrymheutl BETabil, dbbacs 9< hwin 1315 1200 1578,0
33621100/510 :g;‘:;’gh“ SRaTi G BOTE, woobelL | o huwn 300 0.0
b 1
33621100/510 :O;‘:;‘Zh“ e L T hustn 426 100 426
33621120/509  |buopuwwwphu b01ab05 Q< hwwn 2300 0,0
33621120/509 |Fuopuwwwnht b01ab05 a< hwwn 2858,33 700 2000,8
33621120/510 Fuopuwwwnhtu b01ab05 YL hwwn 3500 0,0
33621120/510  |tuopuwwjwpht b01ab05 < hwn 2300 1500 3450,0
33621160/506 wdhtwlwuypntiwprnt b02aa01 94 hwuwn 700 0,0
33621160/506  |wdhbwlwwpnuwppent b02aa0! 9 hwn 800 300 240,0
dbUwnhnt (JBuwnhnup bwuinphnuwlwu
33621190/502 Lrd h 2
phunybhin) BO2BAO2 Hia s i g
EwhUb$SphU (wrpBlw ) a0TadoT,
33621290/504 |b02bc09, cO1ca24, rOlaal4, r03aa01, 4L hwwn 100 0,0
s01eaQl
33621330/505  |uhybpwdhn RO7ABO2 Q< hwn 130 500 65,0
33621340/509 |Un$biht Lwwiphnuh phugnwin NOGBCOT a¢ huwn 31,5 80 25
33621340/510  [Yn$bihu uwwnphnwh phugnuwn NOGBCO!T < hwn 600 0,0
33621340/510  [yn$bhl Uwinphnuh plugnwwn NOBBCO1 L hwwn 37,8 200 7,6
athgtinhy tnuhuipwun (uhinpng hgtinht) b
33621360/506 COIda02. c055001 G wn 150 0,0
bint U Lphu
33621360506 |91 Enbhuinwn (ubnpngihgbnbt) 1 huin 640 50 320
c01da02, c05ae01
qihgliphy Bnuhunpwwn (Uhupng hgbipht)
33621360/507 & h 300 0,0
P07 | c01da02, c05ze01 e i
alhgbinh| Gnuhwpwwn (Uhinpngihgtinhu)

621360/507 Qg h Ty 3 2,
336213601507 | 01da02, 058001 e d i A
33621390/506 |wdhnnwpnu c01bdO] e hwwn 46 280 12,9
33621390/507 |wdhnnwnnu c01bd0l < hwtn 300 0,0
33621390/507 [wuhnnwpnt cOTbd01 9c hwn 255 100 255
33621440/504 E‘;‘mqnl (pEUnwanih hhnnpinphn) ac huwn 1000 0,0
33621440/504 gg‘ﬂ;‘q”l (pBUnignin hhnpnpinphn) G< hun 25,2 500 12,6
33621510/502  |lwwwnuiph) c09aa01 < hwn 500 0,0
33621510/502  |Jwuwjinnwyphi c09aa01 Qg hwin 10,5 500 53
33621540/503 |4 wdBnht (Luwiguidphuf a¢ - 1000 0,0

hhnnnpinphn) A03ADOI
WwwjwdBphU (wjwwwEphup
hhnpnginphn), Ynnbihu, dnpbhu
33621542/505 Q< hwwn 3100 0,0
(Unp$huh hhnpnpinphn), unulwht,
mhinunhl -NO2AAST
33621590/508 |$nipnubidhry c03ca0i S hwn 5000 0,0
33621590/509 |$nipnubidhn c03ca01 9L hwuwn 400 0,0
33621590/509 |$nipnutivhn c03ca0i G hwwn 3 400 1,2
33621620/502 |uwhpnunpwlwnnt c03da0i Q< hwwn 300 0,0
33621720/503 |phunwnning c07ab07 G hwn 12 200 2,4
33621730/503  |Jbpwwwih| c08da01 94 hwwn 90 0,0
33621730/503 |Jbpwwwiih) c08da01 Q< hwn 428,16 10 4,3
33621768/502 |nhynhwqbu 9< huwtn 64,26 100 6,4
33631310/506 nhyin$tuwl di1ax18, m01ab05, m02aal5, qc - 200 0.0
s01bc03
33631310/506 ”g]“bl”g";““”“ A0, millabla, migeais,] o hut 101,64 500 50,8
S iC!
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33631310/507 ;‘STL‘;Z?)’;“L”“ R TG, B o 30000 0,0
33631310/507 Sggg’?’“” Sl et hun 30 5000 150,0
33631350/502 | whwblynipntipnudh ppntihn m03ac06 9 huwn 150 0,0
33631380/502 | winjwbiphgnth hhiypnpinphn. MO3BX04 QL hwn 851,9 40 34,1
bpulbiinuypndbu (nbpulitnnuwpndtu
33631430/502 ’J”fn dqhmwt?nrzj S;Am%‘; Hnnupedst | o huwn 1500 0.0
tpulEunnupndtit (nbpulibinnupnbbu
33631430/502 Epiaimwgﬂ) imrix}]?u WRRPEN | g huwin 498 500 249,0
FhunwdGpwant (pEnwdEpugnup
nwhnuwuw), Yinnphdwany,
33631470/502 ;}Eﬁwﬁggm (qLD“Llwg‘hhghu‘; A huin 300 0,0
ROZCCO
Faunwitpwgnt (pEnwdGpwgnuf
nyhnuwuw), Yinunnphdwany,
33631470/502 :Eﬁu’:w“gﬁgm (q)bn“;wfrfghh‘; jmlﬂ)wm) 9 huwin 180 200 36,0
DO7CCO1
33651111/505  |wdopuhghiht j01ca04 Q< hwwn 400 0,0
33651111/505  |wdopuhghiht j01ca04 S hwn 1815,13 100 181,5
33651111/506  (wdopuhghiht j01ca04 = hwn 800 0,0
33651111/506 |wiopuhghih j0Tca04 4¢< hwwn 198 400 79,2
33651118/506  |gb$inphwpunt j01dd04 S hwn 22000 0,0
33651118/506  |gtpuiphwpunt j01dd04 S hwin 144 3000 432,0
33651123/502  |gbbnunwpuhd j01dd01 < hwun 400 0,0
33651124/502  |gbbinwghnhd j01dd02 a< hwin 40 0,0
33651124/502  [gtbinwghnhd j01dd02 9¢ huwtn 600 10 6,0
33651125/503  |wghppndhght j01fal0, sO1aa26 < hwin 50 0,0
33651125/503 |wghppndhght j01fal0, s01aa26 S hwn 264 50 13,2
Buwnwdhghu d06ax07, j01gb03, sO1aall,
33651126/502 ??jﬁambzggﬁaogﬁ i JO g i a¢ b 900 0,0
nw d06ax07, j01gb03, sO1aall,
33651126/502 :foz?;i%hzggaaes J i : a¢ hwun 66 300 19,8
untjpwi Qpulign] + un n
33651131/504 | OléeO], ig;e‘i 02.1}(_)[[1]?6 0%2012?84722 ¢ hun 1,57 600 6,9
nblopuws ma02, s01ae03,
33651134/507 gg;‘l; 51223a690h7 J s q< huin 3000 0,0
33651134/507 |9PUNNPlopuwight j01ma02, sOTae03, a< hwin 250 1000 250,0
s0Zaal5, s03aa07 :
33651134/508 |SMunnbiopuwghli j01ma02, s0ae03, 9c huitn 26,04 500 13,0
s02aal5, s03aa07
pinpwd$buplng d06ax02, d10af03,
33651135/503 |g01aa05, j01ba01, sO1aa01, s02aal1, I hwwn 1000 0,0
s03aa08
33651138/502 ||I-ndjopuwght j01mal2, sO1ae05 [e hwn 150 0,0
33651138/502 ||-n$lopuwght j01mal2, s01ae05 QL hwin 3050 50 1525
33651139/503  |dnpuh$iopuwghti j01mal4, s01ae07 QL hwin 3500 0,0
33651139/503 |unpuh$lopuwght j01mal4, sOlac07 FL hwun 844,44 1000 844,4
33651140/503  |gh$bwhd jO1de01 G< huwin 600 0,0
33651140/503 |gtptiyhd jO1de0] < huwtn 1240 100 124,0
33651141/502 |gt$nipopund j01dc02, sO1aa2? < huwtn 250 0,0
33651141/502  |gb$nipopuhd j01dc02, sO1aa2? £ hwwn 730 50 36,5
33651143/505 | dbpnuwbuby jO1dh02 QL huwiwn 200 0,0
33651150/504 |$yniyntiwgny d01acl5, j02ac01, j02ac0l < huwtn 750 0,0
33651150/504  |$yniynuwgn; d0Tac1b, j02ac01, j02ac0i S< hwn 80 250 20,0
33651163/505 |wdhlwght d06ax12, j01gb06, s01aal Q< hwn 150 0,0
33651163/505 |wdhlwght d06ax12, j01gh06, sOlaa2l 9 hwn 2250 50 12,5
33631227/504  |nwlwppwaht 101ax04 3L hwn 500 0,0
33651230/514 |nopunnniphght 101db01 Q< hww 2500 0,0
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33651231/508 |biinuynghn 101cb01 Q< hwn 1000 0,0
33651232/514  |wppnuwjwwnht 101xa02 i hwwn 1500 0,0
33651238/506 |ghlynpnupwdhny 107aa01 Q¢ hwwn 7000 0,0
33651242/509 |nngbunwpub 101cd02 9L hwwn 2000 0,0
33651243/518 | ujwljhinwput 101cd0l q< huwn 2500 0,0
33651245/507  |qhdghuwphu 101bc05 o hwn 1500 0,0
33651246/503  |hphuninblwu 101xx19 Q< hwn 300 0,0
33651247/504 |kwhpniphght 101db03 QL hwn 500 0,0
33651247/505 | buhpniphght 101db03 G huwn 100 0,0
33651248/504 |opuwihuywinht: 101xa03 9L hwn 1500 0,0
33651249/506 |yhnptypht 101ca04 9< hwtn 200 0,0
33661100/502 [hwinpwl n0lab01 G hwin 10 0,0
33661110/505  |hgqndinipwi n01ab0os 9 huin 400 0,0
33661112/504  |wypnwyn$n| n01ax10 S hwn 1300 0,0
33661112/504 | wpnuyn$n| n01ax10 G< hwun 670 200 134,0
33661113/504 | phnutuinw) n01af03, n05cal9 Q< hwwn 1000 0,0
33661114/503  |$buwnwlhy n01ah01, n02ab03 9L hwwn 7500 0,0
33661114/503  |$pbuwnwtip n01ah01, n02ab04 SR huwin 420 2500 1050,0
(hnnlwjht cO1bbO01, c05ad01, d04ab0T,
sl T iy s01ha07, s02da01 ki o i i
, (hrinlwhti cOTbbOT, c05ad0T, d04abO, e ;
TR n01bb02, r02ad02, sQ1ha07, s02da01 . o i s
thinfught c01bb01, c05ad01, d04ab0T,
33661116/51 74 h 1056 0 .2
P13 | 01bb02, r0ad0?. 501ha07, 502da0: e . e
33661120/503 |unpbhu n02aa0l ac hwn 3500 0,0
tiinhuwhghjweent a0lad0s,
33661121/503 |9 Q¢ h 17,44 50 0,

% |b0tac06. n02ba01 i ;
33661122/503  |wwpwgbinwing n02be0! =4 huwin 70 0,0
33661122/503 | wwpwgbnwing n02be0] G< hwun 2190 30 65,7

dbwnwiihgn (dtwnwdhgn| bwnphnu),

whuindbunt (whinbtiunup
33661125/505 G hwuwn 4000 0,0

hhanpnpinphn), $Euwhytphuhnup

ppndhn NO2BBS2 , AO3DAO2 , NO2BBS52

dbwnwdhgn| (UEwnwdhgn| bwnphnud),

]

33661125/505 | HNUNNPEUNL (whinn$tinth Q< hwtn 53,66 1000 53,7

hhnpnpinphn), $ELwhdEphuhnuh

ppndhn NO2BB52 , AO3DAO2 , NO2BBS2

dbwnwdhgn| (dbnwdhgn bwwnphnud),

whwndbunt (whwndtunuh
33661125/506 g hwwn 870 0,0

hhnpnpinphn), $tuwhdbphuhnudh

ppndhn. ND2BB52 , AO3DAO2 , NO2BB5?2

dbwnwdhgn| (dainwdhgn bwinphnud),

whwndbunt (whnn$bunuh
33661125/506 < huwin 10,4 100 1.0

hhnnnpinphn), $tuwhdbphthnah

ppndhn NO2BB52 ., AO3DAO2 , NO2BB52

dbwnwihgn| (dsnwdhgnih bwnphnd) a

< h 25000 0,0

33661127/504 NOZBE02 win
sgimrame || Sn ST anh ) < huin 37,8 15000 567,0
33661128/502 |jwppwdwgbiyht n03af0] e huwn 4250 0,0
33661128/502 |Gwnpwdwabwht n03af01 Q<L hwiwn 10,8 1000 10,8
33661135/503 | dhnwagnjud n05cd08 Q< hwin 300 0,0
33661136/504  |nhwgbiuywd n05ba01 G< hwn 3700 0,0
33661136/504 |phwqbiwwd n05ba0 9< huwtn 67,9 300 20,4
33661137/507 ||npwqbiywd n05ba06 he, hwn 1500 0,00
33661147/504  |ubinuinhguhu n07aa0l, s01eb06 < hwwn 450 0,0
33661147/504  |ubinunhguhu n07aa01, sO1eb06 e hwn 37,78 200 7,6
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nbipuwdbpwgnt alTac0Z, c05aald,
d07ab19, dO7xb0S, d10aa03, h02ab0?2
33661153/509 : ’ ’ ’
r01ad03, s01ba01, s01cbO1, s02ba06. i s FoRg %o
s03ba01
33661159/504 ?glllg}fgghh (bBUh(EbnhUh hhnpnpinphe) T i e e
33661159/505 ﬁg?gfg’gm (Pupihrhuh hhnpnpinphn) [ - 800 0,0
bU e
33661159505 | PCUNEPPAU (BEURIEpRL hhnpnpinpha) [ - 2133 200 42,7
COICAO6 ;
33671113/502  |uw|pnunwdng r03ac0? S< hwn 10 0,0
33671113/502  |uw|pnunwin| r03ac02 S hwtn 7eh2 10 7,8
33671114/504 |wdhunbhihl r03da05 9< hun 1600 0,0
33671114/504  |wdhun$hiht r03da05 q¢ huwn 56 400 14,4
33671115/502 ;gL;i;”“’dﬂ"””L“W”“ ungnbubtp kide | o i 1700 0,0
33671124/502 S‘”D”]pcr‘;gfhgm' fipuwdbpwgnt G< huwin 134373 10 13,4
wdppopuny (wipnopunih hhnpnpinphn)
5
33671125/504 | PR E a< husn 9,9 1100 10,9
33671130/503 |nh$bUhhrnwdhl d04aa32, d04aa3z v hwn 40000 0,0
22,05 15000 3308
dtiinpnuhnwan| aOlab17, d06bx0T,
33691112/503
93 | 01af0r, j01xd01. p01abO1 T i HoD e
dtinpnuhnwan aOlab17, d06bx01,
33691112/503 ! ac h
i ¢01af01, j01xd01, pOlab01 o e <000 330,0
33691136/524 |+ "nhnuth pinphi at2ea0f, bOSCBOT, ag huwun 80000 0,0
b05xa03
33691136/524 g;usnggtﬂh R al2calil, bOwekdl, 9< hiun 165 20000 3300,0
X
33691136/525 | wuinhnudh pinphn al2ca0t, b05cb01, 4¢ hwun 2600 0,0
b05xa03
33691136/525 | "W inhnuh piaphny al2ca0T, bOSchOT, a< huwn 1100 400 440,0
b05xa03
33601136/526 |24\ "nhnudh pinnhn, al2ca01, bOScbOT, q¢ i 24000 0,0
b05xa03
33691136/526 |~ inhnuh pinnhiny a12ca01, bOSChOT, qc bk 165 6000 990,0
b05xa03
33691136/527 |Uwrhnidh praphn al2cadl, b0ScbOT, < hwin 1000 0,0
b05xa03
33691136/528 bwwnphnuwh pinphn al2ca01, b05cb01, ac — 410 0,0
b05xa03
43691136/508 |l pipfn 8f2ca01, bO5chOY, 4¢ huwin 160 90 14,4
b05xa03
33691136/529 |Urnhnudp pinnhi a12ca0l, b05cbOT, 9¢ hun 40 0,0
b05xa03
33691136/529 |Uwrnhnuh pinphi atca0l, b0SchOT, 4¢ - 158 90 14,2
b05xa03
33691138/508 |qyniyng b05cx01, vO4ca02, vOBdcO] ac huwn 1600 0.0
33691138/508 |qyniynq b05cx01, v04ca02, vO6dcOl < hwn 1100 400 440,0
33691138/509 |qynilng b05cx01, v04ca02, vOBAOT q< hwwn 6000 0,0
33691138/509 [qunilng b05cx01, v04ca02, v06dcO1 9L hwn 172 2000 344,0
33691140/509 ”B?h”gggh“mbhu Bt S, q< hwin 300 0,0
sUlxa
33691140/509 ugglJtmOIgghumhhh riSeRll Wicaha, q< huwin 210,98 100 21,1
sulxa
33691140/510 L%%blré%ghumbhh r05cb01, v03ab23, a¢ hwtn 1700 0.0
S Xa
33691140/510 %ﬁb”ggg*‘“mbh“ PGS R, 4¢ " 47,52 500 23,8
sUlIXa
dwqubighnuh unybwin a06ad04,
0 qc h 250 0,0
ASEBUASETE | et asmns, d1j05, w402 i
dwqubghnwh uny$hwin a06ad04,
33691145/505 q¢ huwitn 37,8 50 1,9
P05 | 19cc02, b05xa05, difax05, v0dce0? -
33691176/598  |wy| ntinnpuyp 9 hwun 600 0,0
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33691176/599

wy nbnnpw)p G< hwin 365,62 60 21,9
33691176/600 |wy nEnnpuwyp < hwun 420 0,0
33691176/601 | wy| nbinnpwjp Q< hwun 900 0,0
33691176/601 |wy nbnnpw)p G hwin 108 300 32,4
33691176/602 |wy| nbnnpup 9< hwun 40 0,0
33691176/602 |wy; ntinnpuyp G hwn 12599,22 10 126,0
33691176/603 |wy) nbinnpuyp q< hwn 800 0,0
33691176/603 |wy| nbinnpuwp Q< hwun 420 200 84,0
33691176/604 |y nbnnpwp G< hwwn 700 0,0
33691176/605 | wy| nbinnpwyp Q< hwn 40 0,0
33691176/605  |wy, nbnnpwp g hwn 5000 10 50,0
33691176/606 |y nbnnpuwyp e hwn 60 0,0
33691176/608 | wy| ntnnpuw)p 8a hwn 600 0,0
33691176/608 |wy nbnnpw)p L hwn 275 200 55,0
33691176/609  |wj| ninnpwyp QL huwin 3,95 200 1,2
3369176/610 | wy; nbinnpwyp i hwin 8000 0,0
33691176/610  |wy)| nbinnpuwyp G< hwuwn 34,7 1500 521
33691176/611  |wy| ntnnpuwp QL hwuwn 1600 0,0
33691176/611 | w)) nbinnpuwyp q< hwuwn 16 400 46,4
33691176/613 | wy ntinnpuwyp G< hwwn 1 0,0
33691176/613 |wy; nbinnpup 9< hwtn 55980 9 503,8
33691176/614 | wy| nbnnpuwp < hwn 80 0,0
33691176/614  |wy| nbnnpuwyp S hwwn 1132,29 20 22,6
33691176/617 | wy| nlinnpuwp s hwwn 170 0,0
33691176/617 | wy nannpuwp 9< hwn 2031 30 60,9
33691176/618 |y ninnpwip qC hwn 40 0,0
33691176/618 | w)) ntinnpuwp S hwun 1401,24 10 14,0
3369176/619 | wy| ninnpuwyp 9 hwun 70 0,0
33691176/619 |y nbinnpuip G< hwn 3306,3 30 992
33691176/621  |wy| nlinnpuyp S hwun 180,62 100 18,1
33691176/623 | wy)) ninnpuwyp Qe hwn 2500 0,0
Ephidbrhihhnpopu u
33691188/502 E”ﬁﬁ‘lﬁgiﬂ,ﬂh&gixﬁmnw h G< huwtn 100 0,0
opu u
33691188/502 uawqﬁs:};wg},ixh”h”mh h ) o< hun 650 100 65,0
nlunwpent (wibw- |hynwepnt
33691190/502 Zerxm,lap\%séﬁx - [ e hwin 100 0,0
33691191/504 | $nubnjhuyhnubn (fubtghwy)-£SL A0SC 9< hwn 2250 0,0
33691191/504  [$nubnihwhnutip (fubughw)-ESL A0SC 9L huin 45 750 33,8
33691198/503 wnbdbinhnupt - ATBAAD2 9 hwwn 200 0,0
33691198/503 |wnbubiinhnupt - AI6AAD2 9< hwn 2750 100 275,0
33691202/518  |Enwighjun - BO2BXO1 gL hwun 3000 0,0
33691202/519 |tuwiighjwin - BO2BXO! G< huwn 15000 0,0
33691209/50z | mnal (imudunynqhiu ¢ huwin 500 0,0
o i f:\l.?nzqhbh
33691209/502 M. BOAC AN S huwwn 168,63 500 84,3
33691212/502 |nhnudhu, htiuwbnhnhu-CO5CAS3 9< huwtn 88 200 17,6
(hnbhiwgywsd YEunwih Ywplwppeywht
dwptubp (uluinpwghpn B
33691213/502 sl T - G< hwun 135,99 200 27,0
wuhdwihu) -A07FAQ1
33691215/502 ﬁggghnhbn fungh gifunintinhg a¢ i 200 0.0
33691215/502 L”gglsihﬂbbﬂ fungh gfuntnbinhg ac hwin 2180,3 30 65,4
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33691217/502  |hdwppwnhu COTEBI7 < huwn 200 0,0
33691217/502  |hjwppwnhu-COIERT7 G hwn 140 100 14,0
dwgltighnul wuwwpnwn (Gwgubighnd
h
33691218/507 UMb ntuinwhhnpu), 9¢ hwin 100 0,0
Yuihnwh wuwwpuwn (Guihnd
wuwwpwnwwnh htidhhhnpwwn) - A12CC05
dwqubghnd wuwwpunwn (Gwqubghnud
33691218/508 | “uHwnwinh ntnpwhhnpwun), a< huwin 4800 0,0
Yuwihnwh wuywpunwn (Yuighnd
wuwwnwwwnh hdhhhnpwwn) - A12CC05
33691220/505 |hunghu-CO1EB q< hwuwn 500 0,0
33691220/505 |hunghu-CO1EB 9L huwin 63 500 31,5
Uwnpnuwphth Yughndwlwl wn-
33691223/507
6 / BOTABOR J< hwn 4500 0,0
3095 2500 77375
) Uwnpnywphth uighnudwlwl w
33 g
691223/508 BOIABGE & hwun 2500 0,0
33691223/508 gg&”g”g‘é“”h“h il gl s < hun 4000 500 2000,0
33691225/504 |pbugnpwpphunw -NO3AA G hwin 2500 0,0
upwdwnn (wpwdwnnih hhapnpinphn)-
33691226/505 NO2AX02 QL hwn 1400 0,0
wpwdwnny (npwdwnnih hhapnpinnhin)-
5 h
33691226/50 ST Q< win 27 100 27
inpwdwnng (npwdwnnih hnpnpinphn)-
5
33691226/506 s e hwun 500 0.0
inpwdwnng inpwdwnnih hhapnpnphn)-
33691226/506 qc
/50 NO2AXO2 hwn 74 200 14,8
33691280/507 |ghuwjjwwht 1 dg/d) 50 d| QL hwwn 2000 0,0
33691320/502 |dwninpbipuwwn 500 dg/y 74 hwn 250 0,0
33691500/508 |uinpwubipuwdwpent S hwwn 150 0,0
33691500/508 |wnpwlbpuwdwpepnt q< hwtn 260,81 50 13,0
33691500/509 |wpwlbipuwiwppnt T hwwn 600 0,0
33691500/509 |wnpwubipuwiwppnt QL hwn 944 100 94,4
ntipuwnpng (nkpuwpngh dnunhhnpwin)
33691727/503 9L h 40,95 200 8,2
93 |vospeor, Boscxor i
33691728/507 |Ybsnt fubid, putinnnpd DOBAX 9< hwwn 400 0,0
33691728/507  |Yytisnt fubid, putipnnpd DOBAX 9L hwn 246,4 150 37,0
tplwreh hpgpopupnp nEpupwuwhl »
1730/ - h 500 0,0
33691730/506 iy BOBAE £ win
tinyweh hhnpopuhnh nbpuwnpwuwhu
0/506 S h 835,73 50 41,8
T e
33691811/506 |phuwlynnh; = ¥t hwn 3000 0,0
33691811/506  |phuwlnnhy 9L hwn 52,08 1000 521
33691814/505 |hhnpopuh) oujw 9L hwn 200 0,0
33691814/506 [hhnpopuh| oujw S< hwwn 550 0,0
33691814/506 |hhnpopuhy ouw Q< huwn 2384,62 100 238,5
T L L LT 4< hwtn 2000 0,0
whnhnopuhuh hhnpnpinnhn
] ;
33691816/504 |- AuBahntdh pulunwinh nhbhnpuin < hun 48 1000 48,0
mhn?nopumhh hhgnﬁgmnhﬂh ;
wtphunnwphi (whphunnwphy
50 e hwiwn 70 0,0
33621480205 | nghubt) COOAAOA "
wbphunnwnh| (wephunnuphih
480/5 9< h 3960 30 118,8
FO0AIRNEDS | snclitini) CosAAGH "
33661117/503  |wwindwiunuh hwunily NOSCMO9 Y3 hwn 1000 0,0
33691176/631  |w) nbnnpw)p < hun 6000 0,0
33691176/631  |wy nbinnpwp G< hwn 840 2000 1680,0
33631260/503 |jnn DOBAGO3 S hwwn 100 0,0
33691176/627 |w)| nbnnpw)p G hwn 2660 0,0
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33691176/627

wy| nEnnpwjp 94 hwn 15960 1000 15960,0
33611310/506 | huunyhu < hwun 30 0,0
33631460/503 | Hapuwywupbting DO3AX03,ROTAX10 Qs hwun 500 0.0
33631270/503  |wnwdwlnjw Ywuws DOBAX Ge hwn 120 500 60,0
33671135/504 [uwighnih pnphn  BOSXAO7 G< huwin 250 0,0
33691176/628  |wy nbnnpw)p G< hwin 400 0,0
33691176/628  |wy| nbtnnpwp q< hwun 2667 100 266,7
33611180/503  ||wlywnyng a06ad11 q< hwn 50 0,0
33691176/634 |w)| nbinnpuwyp 9 hwun 28 0,0
dwgubghnudh unybwin a06ad04,
i Ak a12?c0§hb052a05l.$d1laxOS, v04cc02 " — s B
33691135/504  |uwwphnuh phljwppnUwn b05xa02 Q< hwn 200 0.0
33691135/504  |uwuwiphnuwih phljwppnuwn b05xa02 S hwuwn 900 100 90,0
33691136/530 | wnhnudh piaphn al2ca0f, b0ScbOT, qc hua 2700 0,0
b05xa03 !
3360113e/530 |"wnnhnudh pinphn af2ca01, bOScOT, 9< huwin 720 800 576,0
b05xa03
33691176/629  |wy nbinnpuw)p G hwn 850 0.0
SEegiOyp0s | PLANNIAR Agtpnal - NUAEMIR 9z hwin 150 100 15,0
prwwlwl dwgdwl nbn :
33631250/507 |tpwun| d08ax08, v03ab16, v03az01 G thup 2250 0,0
33631250/507 |kpwun; d08ax08, v03abl6, v03az01 74 (htp 1099 7510 824,3
33621100/512 hbwwphU bwwphnu bO1ab01, c05ba03, G¢ hwin 50 0.0
sO1xal4
33631250/508 |tpwun d08ax08, v03abl6, v03az0l G thwp 100 0,0
33611350/508 ;?;:gfhhw'a'am ] F¢ hwun 15000 0,0
33691176/632 | wj| nbnnpuwip Q< hwun 420 20 8,4
33651280/504 |uh$nipopuwighn AO7AX03 Qg hwun 250 200 50,0
33691176/630 |wy| ntinnpw)p 3L hwwn 300 0,0
wynudhtpnush hhnpopupn +
33611M10/505 | dwqlbighnuih hhnpopuhn a02aa04 G hwn o0 0,0
a02ab01 ¢04bx01
33691176/633 |w| nnnpw)p F< hwn 1000 0,0
33691210/505 |unpndwlpht 4-COTACOT Q< huwin 50 0,0
tehipnndhgnyuw Bphwlwn,
33621300/504  [$tunpwipphinwy, wnwbnwiht wiuwuniuh e hwwn 200 0.0
inin NOSCM
33661162/501  |dbpwnnuh hhnpnginphn NO78C02 Sl hwn 100 0,0
33661162/502 |dbipwnnuh hhnpnpinphn NO7BCO2 4 hwuwn 100 0,0
33661162/502 |dtipwnnuh hhnpnpinphn NO7BCO2 e hwn 64950 10 649,5
33651227/501  |nwlwppwght 101ax04 < huwin 14000 50 700,0
33651230/501 |nopunnniphght 101db01 QL hwwn 13980 600 8388,0
33651231/501  |Ewinwynghn 101cb01 Q< hwuwn 7200 200 1440,0
33651232/501  |Ywppnwwwnht 101xa02 9L hwn 31 200 6,2
33651238/502  |ghyinbnudwihn 1012201 9 hwwn 2000 0,0
33651242/501 |nnghunwgub 101cd02 a< hwn 2300 500 1150,0
33651243/501 |uwwlyhiwputy 101cdO1 ac huwn 2800 400 1120,0
336561247/501  |kwhpmphght 101db03 GL hwn 100 0,0
33651247/502 |kwhpniphght 101db03 q< hwuwn 18500 100 1850,0
33651248/501 |opuwihuywinhu 101xa03 e hwn 22500 400 9000,0
33651249/501 [Jhunpbpht [01ca04 QL hwwn 50 0,0
33691280/501 |ghuujjwinht 1 dg/u; 50 4y G< huwtn 4800 500 2400,0
33691320/501 |dbwnunpbpuwwn 500 dg/d; e, hwun 4200 50 210,0
24111190/1  |wdluwppnt quiq Uu fu.d 594 222,22 132,0
phupwlwl tyniyatp 0,0
wpnpwwnnp wgrubynyptb
33691420/579 }mfwgbw U”hmq;‘m - mﬁngwnmm 9< (il 7 0.0
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33691420/579 |lHPINWWNND wanwlynuskip

(nbwablwntin) pwgdwlndwnubim s (nwlwqu 216000 3 648,0
33691420/580 |URNMWND wWqnuniplip .

(nbiwgllnubin) pwgdwlndwnttiun 5 inwljwgd 7 0,0
33691420/580 |[WRIMWWND wqnwljnyelin

(nbugbitntibin) pwadwlindwnlbin W iwlwaqd | 216000 3 648,0
33691420/581 |LURPNWND wqnwbjniptip

(ntwagtlinutin) puigdwlndwnutitn i (nwlwqu 10 0,0
33691420/581 |IWRNNWIND wqrwynipbip

(nbwqblnbtin) pugdwlindwnbibln ¥ pulwgd | 156000 5 780,0
33691420/582 [IWRPMWIAND WqrRLnURtN .

(nbwabtinbibin) pwgdwlndwnibum < (nwlwgy 1 0.0
33691420/583 |\WRMMWINP wqnuwljnystin -

(nbwablnubin) pwgdwyndwnubuwn < (nwhjwgd 1 0,0
33691420/583 |[WRMPWIIND Wanwlyniptn

(nbwgbuwbn) pwgdwhndwnubun q< (nwlwqy 156000 1 156,0
33691420/584 |lWRANNWIND wanwjnipelin

(nbwghlinubn) pugdwlniwntbun e Inwljwqy 1 0,0
33691420/585 |IWRNNWNAN wanwljnietin

(nbwgliinbbn) pwodwyndunutilin = Inwhuwqd 1 0,0
33691420/586 |IWAMMWUINNA WauLnuREN

(nbwqbitnubin) pwgdwlndwntbun R (nwlwqd 1 0,0
33691420/587 [WMPNMUNND wqrnuwljniyptp i :

(nBwgbuwnutin} pwgdwlndwnubun [nubugd 1 0,0
33691420/588 |[WRPPWIIND wanwlynipbn

(nbwgblwnubin) pwgdwlndwnubiuwn a< (nwlwad 1 0,0
33691420/588 |[WAINWND WgnwniRln

(nbwghtnbibip) pwgdwlnduntbin < (Pwljuqy 90000 i 90,0
33691420/589 {wpnpwnnp wygnwbnyetip .

(nbiwgbuinutin) puwgdwyndwnlbiun e (nwljwgd 1 0,0
33691420/590 [!MPPPUMAND wanwlyniphp e

(nGwagblnttin) nw%dwhndwnhhhm [nwljuqd 1 0.0
33601420/59] [MMPRPWMND waRutmpan

(nbwgblnutin) nw%m.uUndlunUhUm i s ! 0,0
33691420/591 |LUPNNMINN wanwnysbn

(nbwabunutin) pwadwindwnubium < [Pwljuqd 198000 1 198,0
33691420/592 |LPRPUANN Warubjnystn

(nhwghklntibn) nwagdwlndyntibun Fete (nwiljugd | 0,0
33691420/593 [IWRANWINN Wanuiniplin

(nEwgbuwnubp) pwgdwlyndwnublw < (nwlwgd 1 0,0
33691420/594 [LUANPUUINN wiqRuLinyRln .

(nbwablinbbip) pwgdwlndwnlibum (nwhwgd 1 0,0
33691420/595 |[WRIMWIIND wqnwlynuatn

(nbwablinubn) pwgdwindwntbu 4L Inwlwqu 1 0.0
33691420/595 |[WRINWIND wanwljnyatn

(nBwgblintbip) pwgdwlndynubiuwn F< (nwlwgy 216000 1 216,0
33691420/596 |[WRATNWIIND Wwonulyniptn s

(nbiwakuwnubn) pwgdwbindunlbuwn < Inwlwqu 3 0,0
386g1400/5e7 [IPRRHINAN WanuLynRin : .

(nbwabitwnulip) pugdwlyndwnubiuw P (Pwljwgd 2 0,0
33691420/597 |LUPANUUND WqmLUnLBED . _

(nEwagblwnttin) pwgdwlndwnubtiun < [nwiljwgd 138000 1 138,0
33691420/59g |[APPWNNN wanwljnyptin i

(nbwgblnbtin) pugiwlndwntibun B (nwlwqy | 0.0
33691420/599 |[WANPLANIN WaRubnyGn

(nbwgblnbibin) pwgdwlndwntbun ks (nwljwqd 1 0,0
$3691420/E0g [PUFATMINNG wWarpubynyekp

O s i i s e IPwluad | 141000 l 141,0

33691420/601 |\“PAPWIND wqnuityniabin

(nbwgblnbibin) puadwlndwnutbum i inwlwqd 1 0,0
33691420/601 [\WRMMWAND wWnwlyniRbn

(nbwgbuwubn) pugdwlndwnubuwn e [nwlwgd 108000 1 108,0
33691420603 {IUPAMMIND WanunyROn

(nbwgbuwnutp) pugdwlndwnubuwn < (nwljwad 1 0,0

unuehb

56gi4onmas |PIPITOR MO

(nbwablwnutin) pwgdwlndwnublin i (wluqd 2 0,0

Crpanuua 20




(Wpnpuwnp wqnwynipbip

i (nbwgbtintbp) nm%duuugdwnhbnm o it an
wpnpwwinnn w wunt
ik :nlfwibbmghn}qgwiﬂiwﬁggmnnL—hm = il S ke
wpnpwun W
e e i tnb‘:wgbhmghfﬁgw%ﬂ:lzggmnnbmn i Iptstisiqd a4
n
i i }f»fwgb;ﬂfbﬁq;}ﬁ%frmgﬂwnm;um di paljmgl | 28000 2l
e e R
WwpnpuLARD walyn
33691420/608 :nlfmgbbmlrb?)qgmiéu:zgELunUhhm q< Inwljwqy 0,0
33691420/609 :‘:{f:a?:uf&‘:)qx%i’:fzgEmnmm 9 o—— 0,0
wpnpwunn n
i Entfwz,bnmgb:]]q ﬂ%fmﬂrﬁgﬂwm o Lnvsljiqe i
33691420/610 ﬁfﬂﬂ:ﬂfﬁfﬂ{ﬁﬁéwnmm ac nwhwqd | 108000 108,0
0
33691420/611 5:5;2‘;‘;; Sb;“)q;‘i%g;:iggmnbw < Inwluwgd 102000 102,0
33691420/612 :‘;‘;;2“:;:’:&:%:%&::'32Emnnhhm 9¢ pwlwqd | 120000 120,0
wpn w
33691420/613 }né’w’;:ﬁgbmq;‘:‘%ﬁzggmnbbum q< nuwhuqd | 156000 156,0
ssanana ::5:2?:£Sb:ﬁ2ﬁ?lﬁﬁg[}mnbbbm 1 i o
n
33691420/615 :‘;‘tfwgt‘[ﬂf;:)q;‘%i:;’ag[‘Mnhhbm q¢ Inwiljwqu 0,0
33691420/616 }fggﬂ?ﬁg&:ﬁ‘%ﬁﬁggwnmﬂm q¢ inuwlwqd 0,0
T R I I
33691420/618 ?:ﬁlﬁ?ﬂﬁfﬁ%ﬁﬁgﬂmnbhum Ve puiljuqd 0,0
33691420/619 f:fﬂﬂ?ﬂ:&f}q;f%mgﬂmnnmm ac nwljwgd 0,0
33691420/620 :L:[f:’;:;”ggbl:fgi‘%ﬁﬁgzmnbbhm 9< Inwlwqu 0.0
33691420/621 ::5:2‘;‘;“;&:‘)“3%3’:’32Embbum 9< (nwljwqu 0.0
33691420/622 }fﬁﬂgﬁnﬁhﬁqﬁiﬁggwnnu-nm a< nwiljuqu 0,0
Y e I
o i %rggggfﬁgbfﬁgﬁqéuzg&unhbhm e Il e
e e I
33691420/626 }ffﬂiﬂ?&ﬁqgfmﬁzﬂmnm,-um q¢ nulwqd | 186000 186,0
33691420/627 ::"f:’;‘:;”u:‘&“:)q;‘;“;f]m:gmnUth Q< Inwlwqy 108000 108,0
33691420/628 ti‘g:g‘;’ﬂ;‘;:ﬁ;f:ﬁiigmnhhhm 9< nuiwqs | 138000 138,0
33691420/629 t:ﬁgﬁ:ﬁ%ﬁ‘ﬁgﬁﬁgmubum 9¢ nwhwad | 138000 138,0
33691420/630 ;fgggifggh:‘)q:u”jé‘é‘:ﬁ:gwnbhum q¢ nulwqd | 198000 198,0
33691420/631 }?E:ﬁ?&?&%?ﬁ;ﬁﬁ:gwnubum ac nwlwgd | 2034000 2034,0
el e
33691420/633 %‘:élujgﬁﬂgb‘;’ﬁ;‘;”;’ﬁﬁggmnum}m ac nwlwqd | 660000 660,0
) e I
33691420/635 |LANMWND wWanWUjnLRED 9¢ gy 0,0

(nbwgbuwnlbp) pwgdwlndwnbuwn
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lwpnpwwnnp wqnwnyetp

33691420/636 q
(nbwabbuntibn) puquwlndwnbbtn = nuilwqd 15 0,0
ujniphb
JaRaTazgeay (- PRIMEAMLGRREN R
(nbwgbbnbbp) pwgdwlndwnubtn e g 1 0.0
unipl
33691420/638 |[UANNUUNNN WanwljniRtn
(nbwgbbntibp) pwgdwlndwnubwm v Iwljwiqd 834000 L 834,0
Ujnipb
33691420/639, (1" PRTHTAD WARNERIRUR
(nbwablwntin) puwgdwlndwnubun - e e d ! 0,0
uinueb
33691420/640 |IMFPNWINNN WARWLNRER q
(ntwabbwnutin) pwgdwlndwnubun . (nwljwqd 1 0,0
lwpnpwwnnp wgnwujnyebinp
33691420/641
; (nbwgblwnubp) pwadwyndwnubun = el 335500 : 3395
33691420/642 |MFRWUND WqRWUNLRG
/ (nGwgblntbip) puwgdwlyndwnubln b Inusbrisieed 180000 . 180,0
ujnpb
Sisorapipay [PRIMERER UM sy
(nbwabbnbibin) puwgdwlndwntbum < (Pwljwqd 1 0,0
ujnipb
33691420/644 |LUPRMLNNN WqbngRLD
(nbwgbuwnubn) puwgdwyndwnubum < (Pwlwqd 1 0,0
Upniphb
33691420/645 |IPIMUANAN Wqnwliniebp
(nbwgblinbbin) puqdwlndwnbbln g o, A Bl : i
[Wpnpwwnnp wanwlyniystp
33691420/646 Qg
(nGwgbiinubn) pwgdwindwnubln il 2382 : 2260
|wpnpuinnp wqrubgnegabp
33691420/647
(nbwgbuwnubn) pwgdwlndwnubum e g 222000 ] 222,0
ujnipk
33691420/648 | FTMUINNN WRULINLRER
AR ik g ol s il | HA000 ; iy i
|wpnpwwinp wqnwbjnyebip
33691420/649 QL
(nbwgbuwnubn) pwadwyndwnubln Inwwqu i ; 156:0
[WRNpWWnn wgnwnibp
33691420/650
s i s e i [k g . i
lwpnpwnnp wqnwbjnuyebp
33691420/651 QL
(nbwablnbitip) puqilndwnbibtn Inuqd ' 8.0
ujnuabin
33691420/652 [MPrrUAANR WQRUnU
g (nbwqgblwnubip) pwgdwlndwnubuwn e (g A 0,0
24321240/502 |o-puhyny ac thun 450 0,0
24321240/502 |o-puhn; 574 (hwap 1100 50 55,0
24321660/504 El“r:::a“;%“‘“ SRR Bl LD ¢ i 30 0,0
24321660/504 S;J:’ra”;‘;wu Syt Bl Q¢ gpud 1450 20 29,0
24321660/505 3:;‘33'“‘;3““ ke kLT q< qnuwis 30 0,0
24321660/506 |Vl onguilwlul phiulw ¢ find 200 0,0
Ujnipbp
331412121148 |pdoljwljurts wyp Uynipkip Q< hwtn 1" 0,0
33141212/1148 | pdolwlwl wy) Wniebp QL hwun 12000 4 48,0
33141212/1149 | pdolwlywl wy Wynipbip S hwn 7 0,0
33141212/1149 | pdoljwlwts wy Uynipbip QL hwn 12000 3 36,0
33141212/1150  {pdoywljwt wyy Ujnipbp Qe hwn 1 0,0
33141212/1151 | pdalwlwil wy Uynebp q< hwn 1 0,0
33141212/1151 [ pdolwlui wyp Uyniptip Q< hwtun 39000 4 156,0
33142012/1152  |pdohuwlwt wy Ujnyebip Qg hwuwn 35 0,0
33141212/1152 | pdauuljuits wy Uynpbp 9L hwn 30000 15 450,0
33141212/1153 | pdpljwljwts wy| byniptip QgL hwwn 4 0,0
3342121153 |pdolwlwl wy Uyniebip Q< hwwn 135000 1 135,0
33141212/1154  |pdoywlwt wyj Wynipbp Q< hwn 1 0,0
33141212/1154  |pdolulywl wy) uynipbp GC hwn 26700 4 106,8
33691141/508 | wdhl vO3an01 G< hwwn 4000 0,0
33691141/508  |ppdwdhu v03an01 G< hwwn 4200 2000 8400,0
lwpnpwwnnp wgnwbjnebp
33691162/583 qC h 7 0,0
08 liitmpeitistt) —
3360KIEGEs. |PAPAIMANON wgRnnpbD a< huwn 12000 3 36,0
(nGwagklwnutip)
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lwpnpwwnnp wqnwbniebp

33691162/584
il 77 A i byt 1 0,0
(wpnpwwninp wqnwbnipbp
33691162/584
/ el 9< hwn 39000 4 156,0
[wpnpwwinp wqnwunuyebp
33691162/58
. i T e hun I 0,0
Unpbip
33691162/586 (L Frruinnn wapulynie <
(nbusiuiiitin) o hwun L 0,0
\wpnpuwiinnp wgnwlnuyetip
33691162/587 & h
(nEwaklwnutip) > e 1 0,0
lwpnpunnp wgnwbyniebip
33691162/588
/ (nbwgbuutibin) i huss 4 0,0
33691162/588 |LUPRMWUIND Wqnwlniptin 9 e 132000 4 528,0
(nbwgbuwnubip)
33691162589 |EXPIMannD wmgguinmulin 9¢ ik 62700 1 62,7
(nBwgbuwnubip)
\wpnpwwnnp wqnwnuyebp
33691421/50
Al (nbwqbbunbibp) hnn e hwp 5 0,0
[Wwpnpwnp wgnujniabp
33691421 q
3691421/503 | bt b, < thwp 8000 2 16,0
[wpnpwinnp wanwlyniptp
33691421/504 q<¢
Gl TR L 2 0,0
[wpnpwwnnp wgrwgniebp
33691421
A (nbwabbintbn) hbnnily 35 Lhup 5000 5
[wpnpwwnnp wqnwbnipbp
33691422/507 qc g 10 0,
& (ntwgbtnttin) thnoh Ywd gpwlinglibin Ungpu #
|wpnpwinnp wqgrpwniebp
33691422/507 qc d 1300 5
/ (nGwagbuwnubp) thnoh Gwd gpwlnyubn e 6,9
|wpnpwwnnp wgnwbjnuybp
33691422/508 q< d 12
‘ (nbwabuwnubp) thnoh Ywd gpwunyubp e e
[wpnpwwnnp wqnwjnptp
33691422/508 q< g 2800 3 8,4
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33691423/652  |[WPnPUAND wqnuilynysbip

(nbwabtnbbn) pwgdwlndwntbtn e (nwlwqy 5170 2 10.3
33691423/653  |\WRNMUIND wqrulyniptip

(nEwgblinubp) pwgdwlndwnubun < (nwlwaqd 17 0.0
33691423/653  |[WRPWANN wiqnwbyniptn

(nbwglitunbibin) pwgiwlndwntibun e Inulwqd 25660 3 77.0
33691423/654  |[URMPWIND wqruwljniplip

(nbwgbuwntibp) pwgdwyndwnubtn < (nwluwqud 17 0.0
33691423/654  |[WPMNWWNND wqrubynuatip

(nbwgbbwnbibn) pugdwyndwnubtn hi (nwlwqd 25660 3 77.0
33691423/655  |LURMPWUAIND wqnuwbnietip

(nbwgblintbn) pugqdwindunbbln % (Pwwqd 1 0,0
33691423/655  |lMPPPWIND wanuwjnietip

(nbwgbbunubn) pwqiwlndwntbitinn Q< nuljwqd 30190 1 30,2
33691423/656  |\WPMMWUNND wqrubynietp o

(ntiwgblinttin) puwquwlndwntbtn sty r 0,0
33691423/656  |tUPrrwnnn wqnubjniebn

{nbwgblinbibip) pwgdwhndwntbiinn ¥ Inwljwad 55090 1 55,1
33691423/657  |\HPNNUINN wqnwljniplp

(ntiwgblinutin) pwalwlndwntbun < (nwluwqd 2 0.0
33691423/658  |IMPNNWINN WqruibyniRGR

(nbwglitinbitin) pwgdwlndwnutln K Inw{uqu 3 0.0
33691423/658  |lWRMMWLAINN wqnwjniplin

(nbwgblunbibin) pwqiwliniwnbbuwn < inuwiljwqy 82000 | 82.0
33691423/659  |[HRNNWUNND wqnuibnptp g

(nbwqblinitin) puguinduntibtin [t 2 0,0
3869103/65p  (|AEPAANG tgRut NI

(nbwabbwnubp) pwgdwlyndwynubuwn < Inwlwqd 2 0,0
33691423/661  |\WRNNWIND wanwynyebip s

(nbwgbluntibin) pwiguwlnuwnbbn il 1 0,0
33691423/662  |lUPPWNND wqnwlyniptin

(nbEwgblntitin) pugdwlndwnuitun s Inwlwqd 3 0,0
33691423/662  |UURPMWINNN wanwjnielin

(nbwgbntin} pwqdwlndyntbln e puiljwqd 115000 1 1150
seolazaEEs | MPOPUERR wanuhinetn

(nbwglintip) pugdwyndwntbtin o InwhwqJ 2 0,0
33601423/663  |LURNMWAND Wqnwnyein

(nbwabtiunbibip) pwiguiwlniwntbn i st 31490 1 315
33691423/664  |LURNPLUINA LIqAUILIALRLR

(nbwagbuwnubn) pugdwlndunublin &< (nwwqd 3 0,0
386g1403)gE4.  [LIPTIIRD (igrutnystin

(nbwghlntbin) pugdwlndwntibtn e il 81000 1 81,0
33601423/665  [[MPANWNND wanuitjnibn

(nbwgblunbbin) pwgdwlndwnuibun - irwiljuqd 2 0,0
33691423/666  |[LPANWIND wqnwlynyetn

(nbwgbuwnubn) pugdwlnduwnubuwn RS (nwljwqd 3 0,0
ST B g L e e i

(nbwgtunliin) pwquwlndunlbln - nuiljwad 3 0,0
33601423/668  |MLRMwianD wanwlymsbn

{nbwgblntibip) pwgdwlndwnubiuw 5 Inwlwqud 6 0,0
st Tl N | e R L ]

; (nEwgbkUwnubp) pwgdwlndwnubuwn a4 (Pwlwaqd 261800 2 5236

33691423/669  |LVRTMWINND wqrwbjniptin

(nbwigblunbn) pugdwlndwnbbb i nwiwad 2 0,0
336g14aaeTn |PIPAARD wanubnisby

{ilrents bt il st i b (nwluwaqy 5 0,0
33691423/670  |MMRRPuwnnp wiqnuwlynipbn

(nbwabtntbin} puqiwlinduntibln = pulqy 120000 1 120,0

uinpb

TR B i Ll bR L L

(nbwablinbibn) puqiwlndynbibbn % Inwiljwiqu 2 0.0

WpnpWWND wanwunipbp
irnrih e (nwlwgd 31490 1 315

(nbwagbuwnbbip) pwadwlhnduintibtin
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[WRnpwwnnp wqnwbnipbn

(nEwagblwnubn) puwgdwlndwnbblwn

33691423/672

(nbwgblintibn) pwqiwlnduntbin < (Pwljwqy 3 0.0
33691423/672  |LUPANUANND wqnuilynutin

(nbwablinbbin) pwadwlnduntibun i Iwlwqd 95000 ! 99,0
33691423/673  |LURNUNAN WiqRuilniptn ,

(nbwablinbibn) pugdwlndwnbibun i s : 0,0
33691423/674  |MUPIPUIANM wqmuilynipln

(nbwabtwnbbip) pwqiwlndunubum s ey 4 0,0
33691423/675 ~ |MRnnunnn wqnuyniplip

(nbwabuwnbbn) pwgdwlndwntbiin e it 2 0,0
33691423/676  |IMPPNWUIND wanwlyniptn

(ntwgbbinbbn) pwgdwyndwntbt, o s pund 3 0,0
33691423/676  [LURNMINND wanuiljniRlp

(nbwabtintbin) pugdwlnduntibun i (s el ‘ &40
33691423/677  |lMPANWIND Wanwljnyetin

(nbwabUnbbp) pwgdwlndwntbuw - g 2 0.0
33691423/678  |UPMPWUIND wqnuiyniplin

(nbwablintbin} pwadwlindwntbuwn = el =4 0,0
33691423/67g  |[PODURNNR WL mpetp

(nbwgbunubin) puwgdwyndwnubun e Ipalprgl 1 0,0
33691423/680  |[URNNWINAN wanuwjnipln

(nbwabbunbitip) puqdwlnduwnlibn = g i 0,0
33601423/680  |[UPANUINND Wqnlmtp

(nbwgbUwnubn) pwgdwyndwnubum - Il iy 1 10,0
33601423/681  |IUANPUINN Wqnulynipbn

{(nbwgbuwnbbip) pwgqdwyndwnubum e el - 5,0
33691423/681  |LURNNUINNN wanuilynyetp

(nbwgbbwnubip) pwgdwyndwnubun e Inwluwqy 44850 1 44,9
33691423/682  |IPITUANNN wqnwUniRbn

(nbwgbtunbibin) pugiwnuntbue e s : a0
33691423/682  [lUPMPWAAND wqnwynietp

(nbwgbbinubp) pwgdwhndwnubun i nestneigd H4re0 1 14,8
33691423/683  [LURNUINNN Wqnuljniptin

(nGwablinubip) pwadwlndwntbln > il 48 0,0
a363tneEs  [IURNOURANR WawlioiRhn

(nbwattnbibin) pugiwlndwnttun i Inwuwqd e 3 i
33691423/684  |LUPMPUWIIND WqRWLniRG

(nbwgblwntbin) pugdwyndwnlibun e Ipuitl g 4 0.0
336914 [Wpnpwnnp wqnwlnipbp

91423/684 S} sl i G< Inwlwaqd 15100 7 105,7

33697423/685  [LIPTIUIANE Waquilinestp

(ntiwgblnutin) puwqiwlnduntibtn e ke g e

lwpnpwnnp wqnwunipbp
33691423/685 s i ac Inwlwqd 15100 7 105,7
33601423/686  |LUANMUAARD werwl)ayshp

(nbwgblwubp) pwgdwyndwnubun - it g 2 it

[wpnpwwnnn waqnwiniptp
o PR e q¢ Inwywqd 13590 7 95,1
33691423/687  |LURINUIND wanulnystin

(nbwgbbulitn) puwquwyndwnubuu e i 33 e

lwpnpwwnnp wqnuwbynipbp
i (nbwgbUwntbin) pwadwlndwnubuun i kg IFSEn = b

[wpnpwwnnp wanwujnietp
33691423/688 bl ma iz Pt qc (nuwljuwqd 19 0,0

lwpnpwwnnp wgnwiynysbp
33691423/688 (nbwgliinbbn) pugiulnduntbi < Inwljwqd 14240 1 14,2

|wpnpuwwnnp wgnwynizbp
33691423/689 | 4B a< inwljuwq 19630 1 19,6

[wpnpwwnnp wgrwbniekn
SIS0 L i) s T a¢ Inwljwqd p) 0,0

lwpnpwwninp wgnwunyebp
R e it qc Inwlwgd 14240 5 71,2
33691423/691 [WRNpWWND wanwjnystp

(nbwgbtinubn) pwgdwlndwnubun b Inishicept : e

[Wpnpwnnp wqnwbnipbn
33691423/691 Rl el i Mt qc [nwlwqy 293220 1 293,2

[Wpnpwwninp wanwunipb
33691423/692 il a¢ il 17 0,0
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[Wwpnpwwnnp wanwnyebp

(nbwgblwnutin) pwgdwyndwnutiun

b [ s dwug AR 9< Inwluwqu 19630 1 19,6
wpnpwwn i
33691423/693 ;nlfwgbnﬁgbr)qgmzﬁﬁggmnbbum q< Iwiljwqu 18 0,0
33691423/693 ::tf;g?ru:]l?h:)q;}:]%étﬁggmnbbhm ac (nwlwqu 20280 5 101,4
33691423/694 ;‘:E;g:ﬁ“;‘gb;“)q;‘j%ﬁzggmnUme ac inwlwqu 2 0,0
33691423/694 ?L:fiﬂm&f)qx%ﬁﬁgEwhnm 9< nuwljwqd 19840 6 119,0
33691423/695 ::‘lfgg‘;’ﬁl‘:}q;‘u“%’;:’zggmbtmm ac nwlwqu 1 0,0
wpnpwuunn w wunt
33691423/696 Enlfmibhmghnﬁgw%iwﬁgEumbhbm Q¢ Inwljwqd 5 0,0
33691423/697 }‘;’f;g:ﬂ‘fb:qxzé’:ﬁgzmumm q< puwiljwq 49 0,0
n
33691423/697 fffwf;?ﬂbffﬂqiﬁfnﬂmmm G< Inwiljugy 8010 1 8,0
33691423/698 }fﬁiﬁiﬂbﬁqﬁ;ﬁﬁﬁﬂmnmmm q< pwiljuqy 26 0,0
33691423/698 i;”;:g:umu?&;“)q;‘;“:ﬂzﬁEwnumm q< nulwqd 16010 8 128,1
RSB o il ank 9| iwbuad ! 0.0
33691423/700 ::“;:2:5:&;“?25%&’3;3@bum 9< nulwqu i 0.0
33691423/701 ?ffl?ﬁﬂafﬁgﬁqﬁﬁnﬂwnmjum 9< Inwhwad 1 0.0
MG | oo iyttt | ipwbwad ! 0.0
i) e i e T % | e ‘ o
S i ;:Jt:p;gl;]:u:gur)qgr;ﬁi:gwnmmm B Ly . e
33691423/705 }f::ﬁ?ﬁgb:qgﬁﬁﬁ:ﬂmnmmm ¢ il i 0,0
33691423/706 sf[f:z:ﬂgh:]q;‘:’:ﬁiﬁgmubUm 9< nwljwqy 7 0,0
Ein iy ::552::1 u?'[? b?)q;ﬁ tj;;:{lj:gwnbbUm i nwhuqd o : i
N e I 2T
33691423/707 ;:hpig?tﬂt:‘h:]qgi;éwz:gmnbl:.hm ac Inwlwgd 2380 1 2,4
T e N e
33691423/709 %f»f:ifﬁﬁﬁ:ﬁﬁ;ﬁﬁ:ﬂwnum,m ac inwlwqy 2 0,0
Tl e A | o
33691423/710 :::f:g?ﬁgb:)qﬁ;ﬁﬁ:gmnnnnm 9¢ kit 8950 i 9,0
ooyt il o | vote | e
I R e |
e :ﬁ]ﬁn i hlrjll]q{?ulf: ﬁﬁ:gmmj b s shi ’ -
T e R [ e
33691423/715 ::ESZ‘;‘;’::S;:}T:‘;&’Z:GNnUme ac nwluwqd 3 0,0
BT, b et e ol el B 9 : b
e e g el B e o BN L VR o
e s e M o U ac iulpigd 49810 1 49,8
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[Wpnpwwnp wqnwinyptn
33691423/719
: (nbwaqblunlibn) puqiwynintistu e L T 783
[wpnpuwnnp wanwineabp
33691423/720
(nbwgblinubin) pwgdwlniuntibun i i) 2 0.0
[WRNpWnp wqnwiynipkn
33691423/720 g
(nbwgblintbin) pwadwliniuntbtn = il 400 ! 31,0
lwpnpwwinp wanwlnistbp
33691423/72 qc
; (nEwgblwnttin) pwgdwlndwnlbtn i i 0,0
lwpnpwinnp wgnwlnipbn
33691423/721 S J
(nbwabitinbibin) pwgdwhndwnublun iy 421,48 tao 43,2
1]
243216605507 (1 “;:“"“ R LT ¢ qpwd 250 0,0
|NL[E!
u u u U phd
i e L a< apuid 250 0,0
[N
24321660/508 3:;‘:::;3‘““ ongutiubts ghidbulwb ac gnuad 138 250 34,5
24321660/509 I‘}IL:E:;%“‘“ s T T 9¢ o 500 0,0
u
24321660/510 &“:E:;:”" RSB Sl 9< anwd 250 0,0
24321660/511 Slur::‘l:;‘;w“ onquwlui phdhuluwt 9< gpwd 200 0,0
24321660/512 &f:‘r;‘;wb AsisuAal) i oy 9< qpuid 87,5 200 17,5
u u d
24321660/513 EEL;?““ SPPREIG g Ve qpu 1250 200 250,0
24321660/514 SIL:::}E“‘U PRI el ac gpwd 3 200 0,6
u u
24321660/515 E: “éqwb Sty el ac gpuwdd 1320 200 264,0
cleg]
wynndwin pwdwtiwdnphsh
33111230/501 Q< h 1 z
; dwipwlwiutin 10-200 Jly s S 0,0
wywnndunn pwdwbiwynphsh
33111240/501 < h 4800 A
: wipuwlwilibn 200-1000 dhuin vk s i
33141143/501 uljwph$hlwinnp Q< hwwn 8400 0,0
334 212/1175 pdolwlwt wy| Uynietip Q< hwtn 62160 0,0
33141212/1176 pd2ljuiljwt wy Gynuyetip q< hun 3200 0,0
331412121176 pdolwlwt wy) uynietip q< hwn 220 300 66,0
3314121277 pdalwluw wy Uynietip qc hwwn 900 0,0
33141212/1177 pdaywljwts wy) Uynupbp Q<L hwwn 29,4 300 8,8
33141212/1178 pdolwljwl wy) Yynuyebip Q< hwn 4800 0,0
33141212/1178 pdowlwl wy) Ujnupbp q< hwuwn 180 200 36,0
33141212/1179 pd2gwlwl wy) Uynipbp q< hwuwn 4800 0,0
33141212/1179 pdaljwljwi wy) Ujnebip Q< hwn 229,2 200 45,8
33141212/1180 pdojwlwl wy Uyniyebp Q< hwuwn 500 0,0
33141212/1180 pdolwlwl wy) Uynibp G hwwn 31,6 100 512
33141212/1181 pdolwlwl wy uynpbip GC hwtn 5000 0,0
33141212/182 pd24wlwt wy| Uyniebp Q< hwn 5700 0,0
33141212/1182 pd2lwlwl wy byniptip Q< hwwn 33,6 300 10,1
33141212/1183 pd2lwlwt wy) Uynpbip S& hwn 3500 0,0
33141212/1183 pdoywlwl wy Uynebp q< hwuwn 160 100 16,0
33141212/1184 pdoluljwl wy Lynpbp Q< hwwn 15600 0,0
33141212/1185 pd2lwluwl wy Unyelp Q< hwtn 2 0.0
33141212/1185 pdauljwil wyy bjniebp G huwtn 67680 3 203,0
33141212/1186 pdohwlwl wy) Uyniabip < hwn 22 0.0
33141212/1186 pdoywlwl wyp Uynietip Erd hwn 66960 2 133,9
33141212/1187 pdolwiljwts w)) bynipbp 9L hwwn 225 0,0
33141212/1187 pdolwlwu wy| Uyniebp q< hwn 996 75 74,7
33141212/1188 pd2lwlwt wy ujnietip < hwun 90 0,0
33141212/1188 pdalwlwt wy uyniebp 9L huwin 1338 30 40,1
33141212/1189 pd2iwlwt wy Wynipbip < hwwn 1 0,0
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33141212/1189 pdalwlwl wy bynyetip Q< hwn 46000 1 46,0
33141212/1190 pdolwlw wy) ujniptn 9L hwn 1 0,0
33141212/1191 pd2lwlwt wyy Uynipkp Q< hwun 1 0,0
33141212/1192 pdaywljwls wy) Uynuekn QL hwun 1 0,0
33141212/1193 pd2lwlwl wy) Uynuetip & hwn 1 0,0
33141212/1194 pd2hwluwil wy Wynuabp q< hwn 1 0,0
33141212/195 pdoywlwl wy| bynipbn G¢ huwwn 1 0,0
33141212/1196 | pdplywilyw wyy Ujnipebip < huwin 1 0,0
33141212/1197 pdlwlwt wy Uynuelip Q< hwwn 2 0,0
33141212/1198 pdolwlw wy) uyniptp Q< hwn 2 0.0
33141212/1199 pdabwliwl wyy Uynietip QL hwn 2 0,0
33141212/1200 pd2wljwl wy) Uynyebn < hwn 1 0,0
33141212/1201 pdolwljwls wy) bynipkn < hwuwn 1 0,0
33141212/1201  [pdaplwlwl wy Uynystip ac huwin 85930 i 85,9
33141212/1202 pdolwlwl wy) bynipbp 9L hwtn 1 0,0
331412121202 |pdolwilwt wy bymiptip < hwtn 87100 1 87,1
33141212/1203  |pdolwljwl wyy Ujnipkp Q< hwwn 1 0,0
331412121204 |pdplulwl wyy uynipbp < hwtn 35 0,0
33141212/1204 pdalwlwl wy ujniptn 24 hwwn 45710 5 228,6
3314121211205 |pdoluljwls wyg bynuyebp Q< hwtn 35 0,0
33141212/1205 pdaywlwl wy| Uynuptip Q< hwn 47440 5 237,2
33141212/1206 pd2ywlwl wy| uynuphip q< hwin 4 0,0
331412121206 |pdolywiljuits wyy ynupbip Q< hwtn 16850 1 16,9
331412121207 pdaljwljwt wy uympbp 9< hwwn 7 0,0
33141212/1207 pdolulywl wy) bynyatp 9L hwn 208710 1 208,7
33141212/1208  |pdolwlwl wy Uyniptp 9 hwin 1 0,0
331412121208 |pdoljwljwt wy tyniptp Q< hwtn 66000 1 66,0
3314121211209 |pdpluiljwts wyy Uynuptip G< huwin 1 0.0
33141212/1210 pd2ywlwl wy uyniebip Q< hwtn 1 0,0
33141212/1211 pdoywljwits wy tynyptip < hwn 25000 1 25,0
331412121212 pdolwlwl wy) bynyebip 9< hwn 750 0,0
331412121212 pdoljwlwl wyp bynupbp Q< hwn 19,8 250 5,0
33141212/1213 pdoljwljwt wy| bynuphip q< hwtn 150 0.0
33141212/1214 pdoljwljwt wyy Ujnyetn < hwn 150 0,0
33141212/1215 pdolwljwl wy bynyebip Q< hwtn 150 0,0
33141212/1216 pdolwlwt wy| Uynibip QL hwwn 150 0,0
3314121211217 pd2wljwits w)) Uynuyptbp < hwtn 150 0,0
33141212/1218 pd2lwlwt wy| uyniptip Q< hwn 150 0,0
33141212/1219 pdouljwt wy bjnistip q< hwuw 150 0,0
33141212/1220 pdoljwljwt wy bynypbp Q< hwtn 150 0,0
33141212/1221 pd2ulwl wy Wynipbp Q< hwin 150 0,0
33141212/1222 pd2lwljwt wy) tyniypbp G hwn 22,16 150 33
331412121223 [pdoluiljwsl wy Uynibip a< huwtn 22,16 150 i3
331412121224 pdalwlwt wy Uynuyebip q< hwin 150 0,0
33141212/1225 pdoywljwits wyy Uynupbn G huwun 22,16 150 3,3
33141212/1226 pdrljwlwl wyy Uniptp q< hwtn 150 0,0
33141212/1227 pd2jwlwt wy) Uynuetip < huwn 150 0,0
331412121228 pd2wlwl wy| Uyniebip < hwn 150 0,0
331412121229 |pdpliwiluals wy) byniplip G< hwn 150 0,0
33141212/1230 | pdpljulyuts wyy byniatip 9 hwun 150 0,0
33141212/1231 pdalwlwl wy| unebp Q< hwn 150 0,0
33141212/1232 pdo2lwlywl wy Uynpbp q< hwtn 150 0,0
33141212/1233 pdoljwljwt wy byniptn Q< hwun 150 0,0
33141212/1234  |pdoywlyuwit wy Uynietip < hww 150 0,0
331412121235 |pdolywlywts wyj Uniptip Q< hwtn 150 0.0
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33141212/1236

(nbwgbuwnubn) thnoh Ywd gpwunyubin

pd2lwljwt wy Uynyatin Q< hwun 150 0,0
33141212/1237 P2 wliwl wy) Uynipbip 94 hwtn 150 0,0
33141212/1238 pdalwlwl wy Yynyetip Q< hwn 150 0,0
33141212/1239  |pdolyuiljuit w)| Upniptip Q< hwin 22,16 150 33
33141212/1240 pd24wlwt wy uyniptip e hwn 150 0,0
33141212/1241 Pd2qwljwl w)) uynipbp Q< hwwn 150 0,0
33141212/1242 pd2ywlwts wy| Yynipbip 9< hwn 150 0,0
33141212/1243 pdalwlwt wy Uynyetip Q< hwun 150 0,0
33141212/1244 Pd2lwlwl wy) bniphip S< hwtn 150 0,0
33141212/1245 pdalwlwts wy bynyebp Q< hwn 150 0,0
331412121246 | pdolwlw wj| bynuelip L hwtn 150 0,0
3314121211247 PA2Guwlwl wy| Ujnipkp Q< hwin 150 0,0
33141212/1248 p24wlwl wy| bynipbn e hwtn 150 0.0
33141212/1249 pdalwlwt wy bynipbp Q< hwun 150 0,0
33141212/1250 pdoywlwl wy) bynyetip Qg hwun 150 0,0
3314121211251 pdalwlwl wy bynipbp Q< huwn 150 0.0
33141212/1252 pdolwlwl wy Yynyetip 9c hwn 150 0,0
33191310/504 thnpéwlinpubip < hwn 27000 0,0
33191310/504 thnpdwinplbp S hwwn 9000 0,0
33191310/505  [hnpawitinpubp Qg huitn 7200 0,0
33191310/506 (pnpdwlnputip Qg hwn 14000 0,0
33191310/506 thnpdwlinpubn Q< hwin 16 1000 16,0
33191310/507 thnp&wunplibp Q< hwn 36000 0,0
33191310/507 thnpdwlnpltip Qg hwin 32 12000 384,0
33191310/508  [\pnpawlinplbp Q< huwtn 6400 0,0
33191310/508 thnp&wunpubp 9< hwn 27,95 2000 55,9
33191310/509 tinpawlnpubp 9L hwwn 22500 0,0
33191310/509 thnpdwlinpltip qc hwn 27 7500 202,5
33191310/522 thnpdwlnplbp Q< hwuwn 4000 0,0
33191310/522 thnpdwlnplibn Q< hwtn 3.5 2000 7,0
<Gywwnhwn B Jhpniuh wunhqBuh
33211320/501 npuwlwlwl hwpinbwpbpdwt phupe- Q< hwun 4800 0,0
hwwpuwidnt
CGwwinfin B dhpnif wlinhgBUh
33211320/501 npwlwlwt hwynbwpbpdwy phupe- q< hwn 98,4 200 19,7
hwiwpwdny
33691158/501 wnwu funwpp npngnn wqnwbniekp ¢ - 800 0.0
(nGuwgblinutip)
33691158/502 wpyw funwpp npngnn wqnuwtjniebn ac Sk 800 0,0
(nbwgbtiunubn)
33691158/503 [Nl funwpp npngnn wiqnuwyniplin q< huwin 800 0,0
(nbwgbuwntibip)
33691158/504 | “MU unWpn npngnn wqnuibynieEn q¢ iy 800 0,0
{nbwgblwnubin)
33691158/505 |l funudpn npngnn wqnuiljnietn 9 huwin 800 0,0
(nbwabUwnubn)
33691158/506 [Tl funudpn nngnn wiqnuibyniptin 9¢ hwtn 800 0,0
(ntwgbuwubp)
33691158/506  |\MAM MuNUIpD g, wqnuijiRbr a< hun 2148 6 12,9
(nBwgbuwntbn)
33691162/602  |[WRNNWNN wiqnwljniptn < huitn 104800 1 104,8
(nBwgblUwnubn)
33691380/501 nbwqblntbiph — $hpnptiph hwywpwént Q< (nwlwgd 1 0,0
Wpnpuwnn wqnwbyniyeh
33691422/512 :nbpwgbthhn)q$np ; U[‘L dnqnwhmghbn 9< Uhingpwd | 30000 1,5 45,0
[Wpnpwwnnp wgnwjnipbp
33691422/513 e e 9< Yhingpwd 40000 1,5 60,0
33691422/514  |\URRNWLAND wiqnulniphip 9< Uhingpuwd 37920 0,5 19,0
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[wpnpuwnnp wgnwignieb
33691422/515 (ntqubum rfbn)qin%r{ uz Jpqnwhnutjbn 9< Yhingpwd 2 0,0
[WRNpWNND wqnwbnietn
33691422/516 i) thn%h Uwéj St ik Q< Yhingpwd 1 0,0
[Wpnnwwnnn wqnwljnt
33691422/517 (nhwthmbbn)q;np ri u’; dnqnwbnu'ubn ac Yhingpuwd 1 0,0
38431700/654  (LURPIMANNNRLYD Lwpnghslbin ~ 9< hwtn 2 0,0
wwnwaqwbbp i
38431700/655  |!“PrMunnnhuih upnghelbp ~ 9¢ hun 2 0,0
Wwnwauwbbn 7
38431700/656  |!“PMMwinnnhuih Yuipnghsttin - ac huwn 2 0,0
wwpwagwubp L
384317007657 | \Prunnnhuih buipnghsbtin - e huin 1 0,0
wwpwagwbbp J
38431700/658 ~ |!Rnrnnnhuih Yupngheliap ~ 9 hwn i 0,0
Wwpwawikp :
24321660/516 glff‘ra“;‘;w“ opquiuibuts phdhulust 9< gpwd 352 30 10,6
24321660/517 3:‘;5:;%“1“ i ik e s 9¢ gpwd 0 200 0,0
24321660/518 ;“;:JBL;C:““ SERARL: pp sl q¢ qpuwd 0 500 0,0
24321660/519 E;‘:‘r:l‘j;l‘““ Sfiquutw il ot 9< il 126 500 63,0
24321660/520 EILI‘::‘;;‘:““ e LT q< gpwd 50 500 25,0
24321660/521 El‘if’r;:wh T S I 9< qpud 30 500 15,0
24321660/522 3:::‘{;“:“1“ bty bt a¢ gpwd 94,8 200 19,0
33141212/1256 pdolwljwl wy) tynipbp Q< hwn 0 100 0.0
33141212/1257 pd24wlwl w) Ujnyekn Q< hwun 0 100 0,0
3314121211258 |pdpywlyuwsits wyp tynupbip Q< hwun 0 100 0,0
33141212/1259 pdalwlwl wy Yyniplip S< hwn 0 100 0,0
33141212/1260  |pdoljwljwi wy) Uynipbip S hwn 0 100 0,0
33141212/1261 pd2ywlwt wy uyniptip 9L hwun 0 100 0,0
331412121262 pdajwlwit wy) Unpbip < hwun 0 160 0,0
33141212/1263 pdolwljwl wy Uynipbp < hwin 0 100 0,0
33141212/1264 pdaywljuits wy tynipkn Q< hwun 0 44 0,0
33141212/1265 pdoljwlywt wy yympbp QL hwun 0 12 0,0
3314121211266 |pdoluljwts wyy Uynuptip Q< hwwn 0 12 0,0
331412121267 pdziwlwt wy uynyetip q< hwn 0 12 0,0
33141212/1268 | pdplywljwl wyy Ujnuetip Q< hwn 17,76 400 41
33141212/1269 pd2lwlwl wy) uynuyetp Q< hwun 17,76 200 3,6
33141212/1270 pdolwlwl wy Uynupbp Q< hwwn 17,76 100 1,8
33141212/1271 pdolwlwts wy Wynuyebip 9< hwtn 17,76 400 Zl
33141212/1272 pdalwlwl wy Uynyebp Q< hwuwn 17,76 400 7,1
33141212/1273 pdolwlwu wy byniptp 9< hwin 17,76 100 18
33141212/1274 pdoljwlwl wy) Uyniptn Q< hwwn 17,76 300 3,3
3314121211275 |pdolwlwt wyy Ujnuptip G< huin 17,76 200 3,6
331412121276 pdaywlwi wy ujneebip < hwn 17,76 100 1.8
3314121211277 pdolwlwl wy) Unyebp q< hwtn 17,76 400 7,1
33141212/1278 pd2wlwt wy| Uynipbip Q< hwn 17,76 100 1,8
33141212/1279 pdaljwljwty wyy bynysbp q< hwuwn 17,76 100 1,8
3314121211280 |pdoluiljwts wyy Uynuehin 574 huwn 17,76 300 53
33161220/501 2wjwinbip thwjunk G hwn 30 1000 30,0
33211190/504 [Nt wlunh-A fupyuil fudeh 1 e huwtn 550 80 44,0
npnodwl phup/
3321m190/505  [OniPUINY wilinh-A fwnpuib fuggh 1 9¢< huwtn 787,5 80 63,0
npnodwl phup/
33211200503 (>"PHIRL whvnh-Bilupywl fudph i a< o 550 80 44,0
npnodwl phup/
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Snihlyint wlnh-B/wpjuwit fudph 111

33211210/503
: gﬂnﬁgmb phup/ < hwuwn 1700 80 136,0
nihlint wnh-B/wpjw fudph 11
332112207503
npnodwl_ phiup/ < hwun 1000 80 80,0
[Wpnpunnp wqnwbyniabp
33691420/654
(nbwgbunubin) pwgdwlndwntbin S (nwljwqd 0 15 0,0
[Wpnpwwnnp wqnwjniphn
33691421/519
. (nEwgbluntitin) htnniy b Inp 2000 2 4,0
[WRnpuUIAND wqnwujniebn
33691422/522
(nbwgbtintibip) thnph G gpwtinybp &< lg 2000 3 6,0
ujniebip
BaEgtaxysny | ETORIER BRrllnge
: (nbwgbtnubn) lhrUt'Jh Ywd gpwbingubp i lg 10000 3 30,0
[WRnpwwn wqnwlnipbn
6 7
33691423/722 bbby pw%uwuguwnnuum Q< (nwlwgd 16500 24 396,0
[WRNPUWWIND wqnwujniptp
33691423/723 <
/ (nGwablinubn) pwgdwlndwnbibun o (nwlwqd 38000 27 1026,0
lWwpnpwuninp wanuwlyniebp
33691423/724 'd
4 (nbwgblnbtin) pwquiwlnduynbbn = g 29000 - 55,0
[Wwpnpwwninp wqnwljnuyatip
33691423/725
‘s (nbwiqblintibn) pugiulndyntibtin s s R T 3 70
[Wpnpwwnnp wqnwlnipkn
33691423/726 Qg
(nbwgblunubin) pwgdwyndwntbuwn U ige] 3iasl 3 94,5
lwpnpwwnnp wqnuwlynipbp
33691423/727 G
. (nbwablintitn) puigiwlnduntbbn . Bt | 153050 - 0882
[WRNPWWNp wgnwujnyebn
1
33691423/728 (e i) b i Q< (nwlwaqd 31490 1 31,5
[Wwpnpwwnnp wanwynipbp
33691423/72 q
3691423/729 (nbwabtuntbin) pugUulynduntbin & [Pwlwgd 86000 3 258,0
lwpnpwwnp wqnwnystp
142 14 1 31,
e (nGwablinubn) pwgdwyndwntbt; e s Gy 5
[wpnpwwnnn waqnwiniptp
33691423/731 < h 18998,4 25 475,0
g (nEwgbuwntbnp) pwqudwundwnhhhm o 8 %
lwpnpwwnp wqnwniebp
3691423/732 h 83 1 2420,0
Sl T pwglwlinduntbln g ik IBRER -
PGSRy s a< h 4660 420 1957,2
T sk sl oy :
38431700/659 ~ [IPnunnniuIh Guienghstitip — ac huwin 0 1600 0.0
wwpwawlbp
38431700/660  |LUPNPUnNNhwh Luipnghsutin ~ a< hun 0 3400 0,0
wwpwaqwubp e
38431700/661  [MUPnunnniuih Guienghsin - a< huwtn 0 6 0,0
wwpwgwibp
38431700/662  |"“PnMunnhugh Yupnghsltn — 9c hutn 0 16 0,0
wwpwgwubn
Swdwlwpgswiht b ywindbbwhwudwl vwppwynpniubp b odwtinwl yympbp, EEYywpwnbluthlw, LEugunuyh
uwppwynpnidubip
314111001 Jugywibwlwl Swpwnlnglbp uu hwin 11500 8 92,0
3242130011 |gwbgujht pwdwlwpwn uu hwtn 38000 2 76,0
30232110/502  |jwqbpwjhts wuyhsutip Q< hwun 756690 1 756,7
nwwnwpl ufwldwnwl, wnwg wnihh,
nwwnwpl uhwldwnwy, wnwug wnnuhh,
30237113/503  |ynubljinnp (Ygnpnubn) Q< hwwn 30 200 6,0
30237135/501  |quiiguijht dhotipbuh pwpunbip QL hwn 5000 5 25,0
31681100/512  |biblunpwlwl wwpwqubp < huwuwn 5900 S 29.5
32421100/507  |guiiguijht dwiniutitin Q< dbwnp 600 25 15,0
32421300/503  |gwtigujht pwdwbwpuwp Q< hwun 3600 5 18,0
30131220/501 _[pnewnpwdtiph hwadhs dbpbuwutin < huwitn 170000 i 170,0
32324900/506 |hbnnwwnwgnygubp Q< hwn 230000 7 1610,0
39221290/502 |phjuhy q< hwn 7000 40 280,0
39711140/503  |ybugwnuwiht uwnbwpwulbp QL hwin 35000 30 1650,0
30211220/508 |ubnwuh hwdwlwpghstbp QL huwtn 10 0,0
30232231/504  |hwidwlwpgsh Ynown ulwdwnuwly 9L huwin 3 0,0
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30232330/503

rYwihl pwqdwlnndwuh ujwlwnwljubp QL hwun 5 0.0
30237113/505  [ynubiljnnp (4gnpnubip) QL hwuwn 300 0,0
30237120/503 hwdwluwngswiht wnpunbp Q< hwn 3 0,0
30237490/507 hwiwlwpgswiht dnuhwnnp QL hwn 10 0,0
30239110/505 nwhs uwpp, pwqiw$niulghntiuy, A4, 18 . i 10 0.0
Eo/nnuwt wpwanue|wl ,
31151120/505 _ |wliuwihwl ulinguwt wrpniplibn QL hwin 5 0,0
35121320/505  |wuinwlignip)wl wnbuwughlubp G< hwn 5 0,0
35121320/506 _ |wlyunwlgnipjwl wnbiuwfughlutip q< hwn 5] 0,0
39711140/506  |ybuguwnuiht uwnliwpwbbp Q< hwtn 2 0,0
42414700/501  [ybpbjwlubip Q< hwn 2 0,0
42414700/502  |ybpbjwlutp G< hutn 2 0.0
Sunbuwlwl, uwuhhqbupl, [Ywgph dhengubip b shtiwpwpuwlwl wunwupubp
18421130/502 [abintinglbin ac qnyg 144 1000 144,0
18421130/503  |akinungubip 9< qnyq 122,4 1000 122,4
18421130/504 |sbintingUtip 3¢ qnug 126 200 252
19641000/506 |wnihtphibtiwght wwpl, wnph hwdwp Q< hwn 5,52 30000 165,6
19641000/507  [wnihtphibtwhu wwpl, wnph hwdwp < hwn 8,496 10000 85,0
19641000/508  |wnihkehibuwhu wwpl, wnph hwdwnp Q< hwn 25,92 30000 777,6
24451141/503  |whunwhwihy htinnuy Upniptip 9 (thwp 280 100 28,0
33141118/502  [wuatinnghlutin qc hwtn 255 2000 510,0
33711210504 |G 0qunuignndU 9< huwn 132 10000 1320,0
whidbnnghliibp
33761000/504  |qniquipwh pninp, nnynuny GC hwwn 69,96 10000 699,6
34921440/501 |PLNNUUENN — wnph inuipwitin - a< huwin 3291 200 658,2
wnpwydwltbp
S4gziadofmsn |PONDR - wnph nwputip ~ a< hutn 780 50 39,0
wnpwdwblbp
39221410/504  wytjubip Q< hwun 744 200 148,8
39221410/505  [wybijubip L hwn 879,2 150 131,9
39221420/506  |funquiwljubip Qg hwuwn 804 100 80,4
39221430/504 |/UnAwbwl-uuniliq wwywlh duipnBint q< hwwn 450 100 45,0
hwdwp, nbinhub
39221430505 |IMnatilruuynibg wuuh dupnbnl a< huin 1290 100 129,0
hwdwp, nbuinhuk
39221480/503 |qniquipwitip funqutiwlttip §< hwn 358,8 100 35,9
39221490/503  |uwniugubp Q< hwn 53,4 1000 53,4
39513200/502  |pneb wuabinnghl, tplotipun Q< hwn 102 7000 714,0
39711330/502  |wwpnypubp QL hwun 72 300 21,6
39831210/503  Juywuph |Jwgdwl nbwnbipgbtnubp Q< hwtn 355 200 71,0
39831242/502 |ywgph ¢ingh dbnpny [Jwliwnt hwiwp q< Yhingpuwd 550 200 110,0
39831243/503 ||Jwgph thnph wynndwin 8¢ Yhingpus 375 300 112,5
39831245/504 |o6wn, htinnuy QL thuip 171,84 5000 859,2
39831247/507 |WNunwhuitnn hbnnd” uutihulignygh a< ihuip 31,6 2000 63,2
hwdwp (flunwlnye)
39831277/501 |ofwnh wywnndwin nhuwblubputp 3< hwn 1800 80 144,0
39831280/503  |wwwlh dwppkint dhong qQ< thup 65 250 16,3
39831281/503 [wuwywlh dwppdwl wpe q< hwn 230,4 1500 3456
39831283/503 |hwinwiljh dwgiwt wp 9< huwtn 299,2 1500 448,8
39835000/507 :‘:“L””"“ et Al TR, < huwn 900 200 180,0
winjw
e A L a< huin 3600 50 180.0
winw
44171100/506  [uwihlubip (ohUwpwpnipjwl) Q< p.ud 3100 1000 3100,0
14211100/501  |wywgq qcC fud 7 0,0
24911900/501  |uwipyh unuptia Q< Yhingpwd 15000 0,0
24951130/503  [uhihynub pumlubip Q< Yhingpwd 25 0,0
24951510/503 hwybjwujniebp gbdtunh, hwywugh Yud 9¢ lifippon] 200 0.0

phunnuh hwdwnp
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31211180/511  fwywnindwn wlgwnhsutip 9L hwn 10 0,0
31211180/512  |wywndwn wlgwinhsubip Q< hwun 10 0,0
31211180/513  [wiywndwn wligwinhsubin Q< huwin 10 0,0
31221240/539  [wnnunwlwynp ubindwlutp Q< hwn 200 0,0
312212407540 wwnwnwlwynp ubndwlutp qC hwn 200 0,0
31531400/503  |owh S< hwtn 30 0,0
38621300/502  [hwjbjp' nhunnulwu < hwn 30 0,0
39515440/503 ninnwhwjwg tpnwywpwgnyp Q< pd 200 0.0
39531600/503 hwuinwlwdwdlnyputp q< pu 500 0,0
39714100/506  |onwthnfuhsutip Q< hwtn 20 0,0
39831260/503 |oGwnh nwpw QL hwwn 50 0,0
42511124/505  Jonuithnhsutiph Gunwawnbip Q< hwuwn 40 0,0
42511124/506  |onwihnhgubiph dwnwownbip Q< hwtn 50 0,0
44111200/501  |gbidbtun Q< Uhingpud 10000 0,0
44111400/501  |qwlunyh wnwuwmnwn < pd 200 0,0
44111412/503  (ubipy, Zhuwpwpwlwy Q< Uhingpuwd 10 0,0
44111414/501  |ubiply' [winbipuwht QL Yhngpuwd 1000 0,0
44111414/503  Jubply jwinbipuwht a< Yhingpwd 1000 0,0
44111421/502  [qniuwtynye (Yngtin) Q< Yhingpwd 40 0,0
441M710/501  uwihl, Yspwdhlwlwt, hwinwlh hwiwp | 8¢ pd 1000 0,0
44111720/501  fuwhy, YEpwdhywlwl, wwwnbph hwdwp Q< pu 1000 0.0
44112140/501  fjwdhlwn qg pd 150 0,0
44112560/527  |opwitnwp hwdwlwpgh uynipbp 9 huwin 100 0,0
44112560/528  |opwinwip hwdwlwpgh ujnuebip S hwn 200 0,0
44112560/529  |9pwinwp hwidwluipgh Ujnipbip G hwn 300 0,0
44112560/530  [opwinwin hwidwlwpgh Yniptp Qg hwtn 10000 0,0
44112560/531  |opwnwip hwdwluwipgh uynipbip Qg hwuwn 50 0,0
44112560/532  opwinwip hwdwlwpgh Ujniptip q< hwn 50 0,0
44112560/533  |opwinwn hwdwlwngh Ujnipbp Q< hwin 50 0,0
44163280/501 |funnndwlwht wuypwlpttp 9L hwwn 30 0,0
44171100/501  {uwihutip (2hUuwpwpniewi) q< pd 500 0,0
44171200/501  |pbipplip (htwpwpnysjwu) Qe pd 6 0,0
44192400/501 |qusg, ghujuwjhl q< nnulbw 3 0,0
44221140/503  [nnubip GC pd 150 0,0
44221140/504 [nnubip q< pu 100 0,0
44221171/503  |nnubph hwdwp uwhdwlwwynuutp Q< hwn 100 0,0
44411110/503  foph dnpuwily, 1 dhwlwting G¢ hwn 50 0,0
44411110/504  |oph dnpwly, T thwljwlny qc hwun 50 0,0
44411300/512  [Jwgupwtiibp Q< hwn 5 0,0
44411300/513 | |wgwpwliibp Q< hwwn 6 0,0
44411710/503  |Juwlhwlgnygh bunwinbintp q< hwn 10 0,0
44511220/510  Jiwpwwnbiuwl aknph gnpdhptin Q< hwin 1 0.0
44511220/511 _ |nwpuinbuwly dknph gnpdhputip Q< hwn 1 0,0
44521121/503  [nnwi thwljwish dheniy < hwn 200 0,0
44521230/507  |wdpwlutp 9< hwn 10000 0,0
44621150/501 _ |opwinwpwgnighs Ywpuwlibip q< hwin 10 0,0
44921100/502  |ghwu, uwhwwl QL Uhingpwd 5000 0,0
44921500/502  |tthwdwdhly’ ghwuwp Q< Uhingpwid 5000 0.0
49221143/504  [dwnwnwljwl Ypnn Ynbunpnighwtibn Q< dbunp 1000 0,0
45221143/505  [bunwnwlwt 4pnn YnUuwnpniyghwbp Q<L dbwnp 500 0.0
Fpbtwlwb whnnypubip b gpuubbjwluiht bnpbp
30197646/1  |undwpwpninp uu Uhingpwd 642,8 16,8 10,8
301923507 | 2dnennwdwnlnughl dptlutinh uu hun 50 960 48,0
dwwwyttiubp
301921141 [pwlwp, Yuhph puspahlh hudwp uu huwin 150 100 15,0
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3019211472

pPwuwp, Yuhph pwpahyh hwdwp vu hwuw 38000 1 38,0
3019211141 Pwlwph pwpadhlubp uu hwn 300 30 9,0
30192121/501  |qphs qunhluwinp Q< hwn 200 0,0
30192125/501 dwplbplbp Q< huin 40 0,0
30192160/501  |inphfulibip q<c hwn 70 0,0
30192700/501 |gpbuwluil whwnnyputip G4 hwwin 60 0,0
30192700/502 |gpbtwlwl whuwnnyplbip Q< hwn 70 0,0
30192710/501  [unutdwdwinfun, gnwubljwlw)ht G huwn 200 0,0
30197120/501 |yn6quittp ac nnuh 2 0,0
30197230/501  |prpwujwliwl Qq hwun 30 0,0
30197231/501 ;33“‘“*“‘““”“' “repelanusil punug, 9< huin 20000 0.0
30197234/501 RIRWWwUwY, Ynpwn Luqgung qC hwin 25 0,0
30197234/502 | pnpwwwliwl, Ynown Yuquny q< hwn 30 0,0
30197321/501  [Ywiphs, dhus— 20 pbpeh hwdwp Sl hwn 100 0,0
30197331/501  [nwlhs Uk Q< hwn 100 0,0
30197511/501  |unwpwpningp Q< Uhingpwd 204 0,0
30197646/501 [pnine' A3 $npdwnh Qg Yhingpwd 1800 0,0
30199232/501 [uwidwlh dpwp, A4 d-wswihh QL hwn 1000 0,0
30199400/501 unubidwywindwsd Yuwd Gusnds pine q< hwn 70 0,0
30199400/502  [unubdwwwinyws Ywd Yuygnit prine Q¢ huwn 170 0,0
30199420/501  |pnune upnuwittiph hwdwp, unutidywspny Qg hwin 50 0,0
30199430/501 |pninp Upnuiutinh, wnpgulubipng 9 hwwn 50 0,0
30234640/501  |$ibip hhannnyeynit, 16GB 9L hwuwn 5 0,0
39224342/501  |wnpwplyn, dbnwnw &< hwin 10 0.0
39241210/501  [dypunn, gpwubigwlwht SC hwn 30 0,0
39241300/501  |pninpe Yupnn uwpp 92 hwtn 1 0,0
39263600/501 |qpswunnuh, gpuubtjwlwhu q< hwn 10 0,0
39292530/501  |pwnt’ dbuinwnyw QL hwn 25 0,0
Ywhnyph dwubp

thwjinwlyniphg Wwupwundws
03411120/502 G hwn 2000 100 200,0

wnunwnnwlp
19121700/505 |wphbuwnwlwt Luwszh q< p.d 4500 70 315,0
19421100/501  |wphbunwlwu wnbpunhih dwipwpt) QL bhinapuwid 1200 200 240,0
24911300/503  |unupud' htinnuy e Ghingpwd 2254 87,5 197,2
24911500/503  |unuhtd (wtpngny) q< hwn 1300 60 78,0
31221240/534  |wwnunwluwifnp ubindwytp Q< hwn 3,3 3000 9,9
31221240/535  |wuinunwlwynp ubniwlubp Q< hwn 3,19995 40000 128,0
31221240/536 _ |wjinnunwlwynp ubinudwliutip Q< hwn 1,9998 20000 40,0
31221240/537  |upnnunwlwynp ubndwlubn Qg hwn 2,3 30000 69,0
31221240/538  [wnnunwljwinp ubndwltibp g¢ huwn 9,396 1000 9,4
39132220/503  |Ywfuhsubp q< hwn 240 100 24,0
39151220/551  [Ywhnyph dwutip 9< hwn 1449,9692 130 188.5
39151220/552  |Ywhnyph dwubp Q< hwn 9500 15 142,5
39151220/553  |Ywhnyph Jwubp QL hwwn 900 200 180,0
39151220/564  |Ywhnyph dwubp Q< hwtn 6,4 2000 12,8
39151220/555 |ywhnyph Swubp q< hwwn 0,8 2000 1,6
39151220/556 |lwhnyph dwutp a< huwtn 100 100 10,0
39151220/557  |ywhnyph dwubp Qg hwwn 139,71429 1400 195,6
39151220/558  |ywhnyph dwubp Q< hwtn 150 60 9.0
39151220/559  |ywhnyph Jwubp Q< hwwn 6 6000 36,0
39151220/560  |Ywhnyph dwutip q< hwwn 60 60 3,6
39151220/561  |[ywhnyph dwutip Q< hwn 24 1000 24,0
39151220/562 [ywhnyph dwubp Q< hun 1690,9091 220 372,0
39151220/563  |ywhnyph dwubip < hwn 1700 60 102,0
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39151220/564

Ywhnyph dwubip QL hwwn 3700 60 222,0
39151220/565  |lwhnyph dwubp G hwin 5600 170 952,0
39151220/566  |Yywhnyph dwubp QL hwwn 60 50 3,0
39151220/567  [Ywhnyph dwubp q< hwuwn 799,98 200 160,0
39151220/568 Ywhnyph dwubip 9L hwtn 30000 6 180,0
39151220/569  |ywhnyph dwubip 94 hwn 1,8 2000 3,6
39151220/570  [ywhnyph dwubp Q< hwn 2584 8 20,7
39151220/571  |ywhnyph dwubp GC huwtn 424 100 42,4
39151220/572  [ywhnyph dwutip Q< hwin 50 800 40,0
4416200/502 | "0 366x183ull wihbipn 164 9< huwtn 15504 25 387,6
hwuwnnipwdp
44116300/503 | "0 366x183ud suihbpny 1844 a< huwin 25424 30 762,7
hwuwnnipwdp
441163007504 | 10 366x183ud swiplipnd T8 a< huwn 33480 200 6696,0
hwuwnuewdp
441172005505 [ "M 2 170x210u suihbipnd 360 d¢ huwtn 4399,95 80 352,0
hwuwnnipwdp
44192620/510  [dbju dbnwnulju < Yhingpwd 944 20 18,9
44211280/502  |&nntip Q< hwn 1350 8 10,8
44221141/505  |nnwb pnwl qc hwn 499,98857 350 175,0
44521120/508  |nnwu thwlwlubp q< hwn 240 200 48,0
44521160/501  |anpwutp Q< dbup 333,33333 60 20,0
44521160/502  [onpuwtibin a< dtnp 184 300 55,2
44521160/503  [anpwlbp qc dbunp 300 2000 600,0
44521160/504  |onpwlbip Q< dbiwnp 419,4 200 83,9
44541200/501  |anpwjh dwubp Q< hwwn 100 100 10,0
Ufnpwhwbshy tynialip
24321610/501  |uwfuwpnqu Q< Yhingpuwd 5800 15 87,0
24321650/502 |qihgtipht Q< Yhingpwd 1080 25 27,0
24321851/501  |dhquiynye / Yuppwdhn a< Yhingnwd 2000 15 30,0
24451140/502  |whuiwnwhwuhs Uynyekip q< Yhingpwd 22000 1 22,0
24451140/503  |whunwhwbhg bjniptin Q< Ypngpwd 130 0,0
24451140/503  Jwfunwhwtihs Ujnipbip < Uhingpuid 780 100 78,0
24451140/504  |wfunwhwlhs Wynyebp < Uphingpuwd 80 0,0
24451140/505  |whuinwhwuhs bjnipbp Q< Yhingpwd 850 10 8,5
24451140/506  |wiuinwhwuhy Unyetip 9 Uhingpuwd 259000 1 29,0
24451140/507  |wfunwhwuhs Ujnuyebip Q< Yhingpwd 10 0,0
24451141/504  Jwhunwhwlhg hbnniy byniebp 9L thup 25 0,0
24451141/504  |whunwhwlhs hbnny Uynipbp Q< thip 1800 25 45,0
24451141/505  |whuinwhwuhs hnnily bjnipbin QL (hwnp 1000 0,0
24451141/506  |wlunwhwths hbnndy tynyebp qc thwp 35 0,0
24451141/506  fwiunwhwthy hbnnly Ujnyatip Q< thinp 4900 15 73,5
24451141/507  |whunwhwlhs hnnly bynuetip Q< (htp 2500 10 25,0
24451141/508  |whuwnwhwths htinniy bynwebip QL hwp 80 0,0
24451141/508  |whuinwhwuhy hnny ujniptip Qg (hwip 3780 40 151,2
24451141/509  |whunwhwlhs hbnndy bynietip Q< thwip 2400 100 240,0
24451141/510  |wuwnwhwuhs htnnwy bynyebp She thinp 40 0,0
24451141/510  |whunwhwuhs htnniy ynipbp a< lhinp 1800 20 36,0
24451141/511  |whuwnwhwthy htnniy Unysbp 2 lhwnp 10 0,0
24451141/511  [whunwhwihs hbnady Uyniebp a< thwp 7300 10 73,0
24451141/513  |wlunwhwhs hbnnily Uynietip Qg thuip 1 0,0
24931500/501  [nblUwngbt bywpubph Gp-wlhsubp q< huwtn 30000 2 60,0
24931600/501  [nbbuwgbt wpubph Yuwjnitiwgnighstibin Qg hwn 15000 2 30,0
24961600/501 |wbuuhulwl uwhpwn Q< Yhngpwd 10 0,0
33141160/502  [untingli 250,0 q< hwn 2500 0.0
33141160/502  unungb| 250,0 Q< hwn 170 1000 170,0
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33141213/504 | pdalywlyuwty Juqbihtu q< Uhingpud 1600 20 32,0
hwlwubfuhy (wunhubuwnhl) -
33621641/517
: whuinwhwhs dhonglitip o e <0008 L1
hwlwubfuhs (wunhubwnhh) =
33621641/517
whinwhuwths Shonqubin < huwin 10,33 10 000 1033
hwlwubtuhg (wlwnhubwywnhly) -
33621641/518
S by Mk i huwin 35 0.0
hwlwubifuhs (wbnhubwnhl) -
33621641/518
whinwhwbhs dhonglbin Qg hwn 12600 13 189,0
hwlwubfuhs (wlwnhubwwhly) -
33621641/519
o5 lluinnbs dhirgten o i 1260 0,0
hwljwubfuhs (wlwnhubwnply) —
33621641/520 Q< h
whuwnwhwths dhgnqutip i 5 &0
33631241/502  |pinphtipuhnpth [(ndnypR 5 lhwnp 150 0,0
8400 50 420,0
dwqubighnuwip uny$win a06ad04,
33691145/507
P07 lai2cc02, b0Sxa0S, di1ax05, v04cc02 e i ; el
[wpnpwwinp wgnwnyabip
91421/51
33691421/517 i e i, < thtnp 1500 5 7.5
[Wpnpwwnnp wqnwjnipbn
3691421/51
e (nbwablintubn) hbnmy s i 3 0.0
[WRnpWND wanwunebn
33691422/518 bt b Vil i Q< Lhingpud 5 0,0
lwpnpwnnp wgnwlynipbn
33691422/519 b e d 25000
g (nbwgbbwnutip) thnoh Ywd gpwinytin ibtngnus - ] 260
[Wpnpwwnnp wgnwynyebn
33691422/520 1
3 / (nbwablinttin) dinoh Lwd gnutingtbn S Uhingpwid 00000 1 100,0
lwpnpwwnnp wanwlnipbn
33691422/521 9L ] 600 1 6
; {(nbwgkbinubip) thnoh Yuwd gpwiinyutin bty %
Swnbpdwlip b whlyngbught wwpwqwibp
39511100/502  |Jbpdiwliubip q< hwtn 3871 620 2400,0
39511120/502  |wilnnliwhts uwhinwlbntt Q< hwn 5000 360 1800,0
39516122/502  |pwné, uhuptinhl QL hwwn 1328,5 700 930,0
OUNU3Nr@3NKLLEP 25308,0
50300000 yunpdlwhwbdwt U hwdwlwpgswipl Swnuympnibibp 0,0
hwdwlwngswht uwnppBph
50311120/502  |wwhwywbdwl - Yepwlnpnguiwl q< npwd 1 0,0
Swnwinueintibbin
50700000 26upbpnud pbnuwluwyws uwppbphdbpwinpngdwl b wwhwwbdwh dwnwynipynibibip 1500,0
Ybpblutiph yepwlnpngdwl —
Q< d 1500000 1 1500,0
e eolliae o wwhwwbdwl Swnw)nipniiibp e
60100000  |witppndnppught thnfuwnpwidhgngbibiph dwnuwynipyniubibp 16650,0
nu—npwihnfuwnpnn wdmndbpELwuEph
60171100/505  |Jwpdwlwinyenit’ qwpnpah hbn Q< npwd 16650000 1 16650,0
dhwuht
71800000 (wpnpupnphwlwl dwnwyniaynitiiip 0,0
71911100/503  Jjwpnpwwnnphuljwl dwnwjnipniutitp ] G I npwd I 1 0,0
72200000 Spwqpuyhly wywhnddwl U funphppunpdwljwy Swnuymipinibiibp
d dwl
720412007501 | Pwahnttinh dnnbjuidnpuu q¢ npw 1 0,0
Swnwinipintutibn
75200000 hwbpuwihte dwnuynianibibiph duwipnignid 0,0
u
75241800/503 | Unul Guingh wuwznuyuingegu, 9< sl | 0,0
Swnwnipntitbn
793411001 gnwgnuwijht dwnwjnipjniittp uu npwd 155520 1 155,5
79341100/2  |gnwqrwiht Swnwnipniubn uu npwd 444960 1 445,0
7982116011 [qpwhhywlwl nhquiuh dwnwnieynititp| — UU npwd 42000 1 42,0
7982116072 |qpwhhyulwl nhqujh Swnwynysjniiutin Uu npwd 45000 1 45,0
7g821000 [P namudhull wimawinquwliph uu nnwd 155520 1 155,5
nwwgpdwl dwnwinuyziniy
7982120072 [l HrihanWHulwl wpnwnnuwliph uu _— 58320 1 58,3
nwwgndw dwnwjnipinl
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90500000  (wnph b puwthntiibph htp Guiywéd Swnuwynipynibiibp 4800,0
hhywnwunguwyhl pPwihnubtph
90521320/505 G
hwywpnu, thnluwnpnul — nsbiswignud i i s
b &,
90600000 punuipuwihts urd qniquilpwtr uyp pmd dwppdwl U vwbhypwpwlut U hwpwlhg 0.0
Swnwyniyyniihlp
90611100/502  |thnnnglibiph dwppdwl Swnwynyejnittp =i npwd 0,0
90900000 Jwppdwhb U uwbfnpwpwhhghbuply dwnuynianitiibn
whunwhwbdwl — dwlwpnydbph
30921100 Q< d 96 :
. f nsswguwl Swnwinpniilubipn e i Sl
whunwhwdwl - dwlwpnydubph
9211 03 Q< d 0,0
G i nsbiswguiwil Swnwinieiniutibin Hu
98300000 |qutiuqut Swnuynysiniiibp 2358,0
98311120/503  [M“9RWNUER Zwhuignpdiul < npwd 2358000 2358,0
Swnwinuniubibin
pd2lwlwl uwppbiph JEpwunpngdwl —
4211 uu d 200000 200,0
i wwhwwbdwl dwnwineintutbp e
55111300/501  |wyy hjnipwiinguwijht Swnwynipyniuttp g npwy 0,0
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thwnwinntutiph JuquwhEnwydwl

799511201 u
dwinwinieiniilibin - i ki an
771M300/1 |wyi uwppwynpnuiutiph Juipdwlwnigyniu Uu nnwy 171000 171,0
9830120 | MU Upwllinieurt wy uu A 500000 500,0
Swnwnienubp
hwdwlwpgswht uwnpBph
5031112011 wwhuywdwb - Japwunpnagdwt uu npwd 980000 980,0
dwnwinipinutn
65111100/1 fudtint oph pwiptunud uu npwd 30000000 30000,0
65211100/1 quagh pwzfuntd Uu npwd 45000000 45000,0
65311100/1 ElEYunpwlwlnipuu pwstunid uu npwy 55000000 55000,0
642113401 | “BbARRUUAL nbnbluwn il Ul Al 960000 960,0
Swnwnipintiubp
somizon |2 lnndupBlnbbnh wuhuyutdu Uu npwd 900000 900,0
dwnwnuainiilibn
uchuusuuveuer
w| 2tupbiph, 2hunieiniuubph
U d 0,0
45611300/501 Ehifbts i p Anw
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